(2)
PARTT / W I
CHILD DEVELOPMENT AND PEDAGOGY / a forr FrerToTTE
Directions : Answer the following questions by 33T ﬁﬂ?fc}fﬁga Vet & 3T 27 & feo Wﬁfm

P-1I/E

wlctin the correstimant abpropriate ption. | IR vy g,
1 Which of the following questions promotes _l'/f AR CEEE kB - T b
" critical and creative thinking in children ? ['1 X A e M AR e e ?
(1) Which can be the best way to save water ' ‘I_T‘-ﬂ + T fau wam 3o alt= |
and why 2 PRE 8w 2 o i o
(2) “II:o:'L does water come from in your :‘i: diTtm TR [ qr,ﬂ‘mf qANTMEY
Cl _. . L % —_‘_r s, 4 - ﬁ ﬁ
(3) How many states and how many capitals mﬁ;ﬁ?q, P B =g i
are there in your country ? ) T ey - -
(4) What is the nnme of your country and its Wi I‘J{l; Hl R 4 CICIEE R L
geographical location on the map ? 3/ qqmﬁm_:;* -aﬁ o B2 ;ﬁ] S
8 FRe iﬁﬁ.qﬂm &1 l{ﬁlﬂ-?l
2. What 1s the role of evidence in critical L ‘
thinking ? (1) o FoAfEE - ‘jﬁﬂ'lﬁlﬁ 7
(1) Evidence should be evaluated in a logical T S 3m mmén I =
and systematic way, (9 mﬂ"’l ) ‘ﬁ Bath .F -
(2) Evidence should be accepted without ifan | Fee fa w1y ‘
ﬂﬂﬂlj‘ﬁiﬁ. (3) WF-"ILT F. . ) .ﬁ
(3) Evidence is irrelevant to critical thinking. 'ﬂma | | - me T :
(4)  Evidence should be ignored in f f =1 . - X
personal opinion, o - O (4) Trl'Ffl ™ % 927 9 unmr f1 390 B
A =R
3. What does inclusive education entail ? \VWWFI faen 4 7 e R 2
(1) Standard curriculum for all learners (1) i ﬁﬂﬂlediﬁ G2 ﬁﬁ'q‘ﬂﬁ?ﬁ REREEL
(2) Segregation and categorisation  of (2)  famfem B ITE ArAA F JATIN YT
students on the basis of their abilities JAFH T TR0
(3)  Provisioning of only vocational education | (3)  fam HATFA 9t foenfedai =0 Fad
to learners with special needs =EEI fen w5 wEurs
(4)  Flexibility in the curriculum as a result of 4 = s UrEH + gftommeasy

b
-

recognition of individual differences RIEREE] ﬁ‘_ﬂiﬁﬂm |
\y Fefafas wa= 31 ofze qur w5 faweT =
e

Read the following statements and choose th =2 Hifgu .

correct option : P (A) :

Assertion (A) : =1 § HARHS 95| o 9T & T4 97 A9
Jean Piaget and Lev Vygotsky differ in their faara Yaiv &9 ST % s 3 fE
perspective on the influence of language on 2 )

cognitive development in children. [ FTT (R) -

Reason (R) : | _ @R stam 1, faus HAHL UTH Har B o
In  discovery learning, teacher provides faemefi =g AN 9T T ® feu 37 714
opportunities and students derive information 5| -

for themselves.

(1) (A)FE R T (R) T 2 |
(1) (A)is true, but (R) is false. .

@) (A) 3 (R) ZE T E, WA (R), (A)

(2) Both (A) and (R) are true, but (R) is not B Hﬁmﬂgﬁ'%l
the correct explanation of (A). 3 (A) 3T (R)ZAT AT & |

(3) Both (A) and (R) are false. (1) (A ﬁ?ﬁfRiﬁHﬁ%ﬂ'ﬂT (R), (A) T HE
(4) Both (A) and (R) are true and (R) is the T E |
correct explanation of (A).




6.

(

;_ Which of [he‘fu!lﬂwing set correctly mentions
the charactenistics on which students who are
Fiﬂrd typically differ from other students in
the class ?

A. Advanced depth of understanding

B. Fast pace of learning

C. Higher dependence on  others for

understanding

D. Rapid physical development

Choose the correct option ;

(1) A,Band C

(2) Band C

(3) B,CandD
(49 AandB
Which of the following statements is correct in

the context of hearing impairment ?

(1) Hearing impairment can affect a child's
ability to communicate efTectively.

All children with hearing impairment
need to use ‘sign language’ to
communicate.

(2)

(3) Hearing impairment of a child can be

reliably tested by making loud noises
near the child.

Hearing impairment is always due to a
physical problem with the ear.,

(4)

In the context of inclusion, curriculu

learning expectations are the same in
while in , they are different.

(1)
(2)
(3)
(4)

enrichment; acceleration
modification; accommodation
acceleration; enrichment

accommodation; modification

According to constructivist theorists, which of
the following statements would not be
correct ?

(1) Knowledge is subjective.

(2) Learners construct knowledge in their
social and cultural context.
3) Learners nced to be extrinsically

motivated to ensure effective learning.

(4) Knowledge is pluralistic and multiple.

(3)

m
!
"

P-11/E
Frafafaa @ & v me = fafreast o
:tﬁta;&nﬁmhmﬁiﬁi%nzﬁamnﬁnwﬁm
& ® 2
A, TUE 6 FuEd] TR
| B. dmEa 4 ax nfa
C. =ma % fau zad w sifus fnfa
D. it fawm 6 93 o1fy
(1) A, B3RC
(2) B3nC
(3) B,C3nD
(4) A3MNB

6,/ o wem % wed § et § 4w
FY9 HE1 R 2

(1)  #=u1 YA 9= & UMTE! 29 3 dare 59
%1 &y 1 yaifad 1 g6dl B |

i yau aifuar ae 9= F1 Hare w9
ﬁsfaq ‘aﬁ?ﬁm WY1 /A139 aEd
IIGTT A hl FTFIGHAT Bl B |

T % UH TA AT w0h 7= H T
! J&mal (g =iivan) w1 favasdg 9
9 giierm fomm 5 gar 2

(4) U arfuar gown = 6 R s
;@YU F FHAU EE 2 |

(2)

I
(3)

7./ GHIETA % weM A, Tew=dl died s
T OuH 8, SEf® q, 3 fimg |
(1) Hau4d; nidagd
(2) YA HATETSE
(3) Tidagd; @add

4)

(1) FH AfFH 2 |

(2) Foramefi st wnfaw S wEpiaw w2
icicieaRecificaoi

3) wE afum gETmm FE F foo
franfdai #1 =@l ¥ & U@ wA A
NTgvgHal 2 |

(4) Wwﬁﬁm%'

(¥ Scanned with OKEN Scanner
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11.

Which of the following is an example nf{gj/
intrinsgic motivation ?

(1) Cﬂ"lph‘hﬂﬂ lh{‘ prn_p_.LL Lo |n1prpﬂl-‘l lh["

(2)

(3) Studying to avoid being scolded
(4) Purumpulmg in a competition for the

Read the following statements and choose the
correct option :

Assertion (A) ;

Teachers should work hard to break down
students’

groups.
Reason (R) ;

A key educational objective is to enable
students to engage in critical self-reflection.

(1)
(2)

(3)
(4)

What is the difference between mastery goals
and performance goals ?

(1)

(2).

(3)

(4)

failure,

recognition from others.

Mastery goals are focused on improving
one's own skills and understanding of a
task, while performance goals are focused
on achieving a high grade or receiving
external rewards.

Mastery goals are focused on gaining
approval from others, while performance
goals are focused on avoiding failure.

Mastery goals are focused on achieving a
certain
competing
performance
improving
understanding of a task.

(4)

teacher

Playing a musical for

personal enjoyment

instrument

prize money

stereotypes  of particular ethnic

(A)1s true, but (R) is false.

Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

while performance poals ar

oPC
P
ok

Fetferfaa & 3 g st snoon ®
I R 9 .
(1) Fverm 23 apfim a0 3 fero, aferan

T T

(2) =l sz & o w are 99 A
@) =2 A Ty fom werd w0

(4)

Wmnﬁa;&-mmnﬁmﬁﬁﬂ
=

tetferfias Faei 1 fien qun wd faked

- Uk UgE vy faenfadi @l
BHATEATTF STer-T4a & fan dieatfea &

2|

(1)
(2)

(1)
(4)

(A) HET &, m-—dmmaau
(A) 3T (R) amaﬁ €, 90 (R), (A) =
Hel AT 78T 2 |

(A) AT (R) T TET £ |

(A) 3 (R) 21 T&1 € 997 (R), (A) F1 Hel
ST |

Mastery goals are focused on ﬂrnidini‘jl/ﬁgm (ﬁT’ﬁ") A5 3N Y29 &g | AT
22

focused on

gaining approval and

for
while
on
and

of
with
goals
one's

level performance
others,
are  focused

own skills

(1)

(2)

(4)

mamﬁmammmﬁamﬁ
TEF WEEH @E T " aEEEd sin
mmmmmﬁamﬁl

HERd @61 30 a3 F 6 ang
nﬂmmmmﬁ'ﬂm% ECIC R e
awﬁﬁmmmmw
wmmmﬁam%t

mammﬂﬂmmmm
ﬁ *-t:- ﬁ

mmﬂfﬁﬁ'ﬁ%mtﬂm% ECic
amngmmaﬁtmrﬁmn
quUE F4 T IH Fa e w2



- =
= o
12 Sibling relationships :

are different than
parents and peers
role in
childhood.

are similar to rel; Illnnqh",q Wi
and peers and

(1 rel; Ationships  w ith

imri play an important
socializ;
ition throughout

.
(2 th parents

play an important role in
socialization throughout childhood.

play an import
childhood.

(3) ant role only during early

do not have much role ;

(4) In socialization.

Read the following statements and choose the

correct option :
Assertion (A) :

Considerable

13.

variations

exist in
developmental rates among children.
Reason (R) :
Developmental differences are ap inevitable

result of complex interaction of genetic and
experiential variations.

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is not

the correct explanation of (A),
Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3)
(4)

4. Which principle of development is illustrated

in the following statement ?

“Children who are deprived of a conduciv
environment for learning language in their
early years have some difficulty in picking
language later in life.”

(1) totally

Development of language 1is
dependent on genetics.

2) La“guﬂl':e and cognition are complexly
Interrelated.

" Development  js  disorderly and
Unpredictable.

@ There s 4 sensitive period of language
development.

(H)

P-1VE
-‘/{lﬁ AT froa /fromi -
(1) A sie wifid % ma w5 A7 fum
a7 ain qAEATEaE H HurdeeT

mqﬁmhﬂﬂi

(2) W si mifedi & sy gad 5 wae
& 3l aedrEen § qursfm 0 e
qﬁ:ra:lﬁ'lmﬁl

(3) FHaA YRR AemEmn H A wEe

yiaar favm 2

(4)  # FETEET 0 sifaes yivm =96 2

a494 'filﬁlﬂﬂﬁ :

mfﬂl
wﬁ%i{ﬁﬁm:mfummnmﬁmrﬁ?ﬁ
Tl & | ,

SRV (R) :

ﬁﬁwmﬁwﬁam&mﬁraﬁaﬁ
Wﬁ"ﬂﬂ?l i |

1) (A T2, T (R) TTed @ |

(2) (A) 3T (R) AT & €, T (R), (A) F
el AT T8 2 |

(3) (A)3T(R) THI T 2 |

(4)  (A) 3T (R) THT F&1 8 997 (R), (A) Y T2
T2 |

frafafea o 4 foem & e fogm =

TN T R 2

“WN = 39 IEAE 99§ W Higd & oo

H{He IaE § afad wd 2, 3% 912 F e

T T g4 8 4TSl HieArs w2

(1) a1 = faem g0 @@ IaEen ® i
2

(2) WmaT 3 i A T F G FwaEfa
2

3y  Famm seaftaa 3 TG B’ R |

(4)  uTT % fawE 1 UF HAgAUIE FA 2 |

(¥ Scanned with OKEN Scanner
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P-1I/E h
15. Students struggling with ‘dyslexin’ can be[15. At ferenefi st ‘qgmdeea’ A ®
taught to read : e fwaman E" TFe 2 - ) N
(1) by encouraging them to study in multiple ‘11 IR FE fawdon § 33edEd i
distractions. "JWTFF'H 5 | “
(2) by tpl‘fﬂ'iiﬁﬂﬂ higher grade level reading V) I = = e i 92E ﬁ':m;ﬁlw
texts. s 7=
W "YU F4 D .
(3) through use of strict punishment to g NG H‘Td?-l gﬁ'ﬁﬂ?
22 & Iygp & [yiegd 9 |

ensure corrective reading, ) . 5
{4) woTeiTa sx=mrege wieon @ AreAd 1
_9/ Gaamaifg ey @ sfafiEad AgE@ 6
16. The underlying principle 0 favama 2 Fr .
‘understanding-based teaching' is the beliefl ' :
(1) foremferai <6 ammamd 3 ravaRdn fafay

(4) through systemic phonological training.

that :
r . - ‘-'| ﬁ'ﬂ fq;q ra:n

(1) learners’ abilities and needs are diverse n fomd mrr | <A1 9T A <l

which cannot be catered to without Ll 8] A =11 Akl % l

focusing on standard instructions. 2) Toemefi fafesg grawal 2 a3 foarer B
(2) lpanl;urshan:;hpﬂﬂsi;e ;ecipi]egts and the qE U IH B |

t : ‘e t' ’ . | = < =

cAcieL. RS8N Mgt Enowiedee (3) H FH % foau v gladeEs SrEE
(3) learners can construct knowledge when yzE foru s 9 foremdi s &0 famior =

provided with a facilitative environment | T

to do so. & | . o
(4) learners know little and teaching involves @ ¥ o :;T - 8 3N ﬁTﬁ H‘%T

transmission of facts to students.
— e | 17/ Siiedt Toensdi B 939 @ 3WF & GIE-HIYE
» T AL A leacher Aelp aman who M Fivrel fawfam =1 1 o foeres frm wm weg

struggling with complex problems develop 3
problem-solving skills ? HLHHA 2 ?
(1) Encourage him to brainstorm and (1) 3.:8 i EFJ? 3R fa=m 3TA FH F fr-m
generate ideas UTeHTiRd FTeh
(2) Tell him to give up on the problem (2) 368 HEH % 9z "wEn = A1 312
Q

(3) Dis‘mure_tge him from experimenting and ~ s
taking risks (3) I8 WM FH 3 AfEy 9 4 zareaf

(4) IF IN U2ZH FFH

(4)  Provide him with the answers

18. A conducive classroom environment for
learning in middle classes centres around

(1) fear of punishment and embarrassment P 1 AT T HZa 2 %‘ l.
(2) co-operative learning (1) H 3 3 =t ot

B) " competitive ethos 2) S e
(4 =

(3) i HrprEm
(4) 797 3 gaa=m

Vi

conditions:
ndltmnmg and reinforcement

(3: scanned with OKEN Scanner
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19.

20.

21.

22,

=

(7)
Mv \f}rg"tﬁk}' II{!HE\'{‘.‘d lI-I“.t {]ﬂ'\'{l!"pl!llll]l .

(1)
(2) is an unfolding of genetic programming.

(3) results directly from maturation,

(4)

1 i e
is discontinuous in nature. ™

results directly from social interaction.

According to Piaget, the four qunlitﬂtivul}
different stages :

(1) vary vastly across the various cultures in

the world.

- ; P-I/E
197 WW‘MWTWT%&}EHH:
(1) Y%A N 3mem 2
(2)  Fatws wnfim e 2 )
(3) M gfiqeEa & gfom # wm R
(4) ﬁ\umuthmm"xqﬁmnmai

ﬁ‘m"‘“ﬂi’ﬂ“ e =9 O/ |9 fafias

FEAT

(1) g i fahm Sepfe 8§ enes =5
i =t 2

(2) T ZR qEwEl 2 a=n o e

(2) illustrate that children’s minds are a9 09 7E1 8 |
miniature adult minds. w A R A . T

5 ld o S ‘ (3) W?ﬁ'&rﬂfzﬂ;mmﬁmmﬁﬁl

(1 ?}TE ependent upon the genetic codes of | @) T % faEm F aaifts fw o=

e children. crn 3% |

o 5““'5“"" universal — patterns  of|5;  frofafga @ @ FAH fom & FEEEE
evelopment of children. - & X fozia ) i 2 2

Which of the following is a limitation of - o o ' -

Piaget's theory of cognitive development ? (1) 9% "AHTHSD faemra 5§ s A fE W

et 94 2dl & |

It overemphasizes the role of lnnguuge in
cognitive development. -

It does not account for individual
differences in cognitive development.

It does not account for the role of
biological factors in cognitive
development.

It does not account for the influence of
culture and social factors on cognitive

development.

(1)
(2)

(3)

(4)

Read the following statements and choose the

correct option :
Assertion (A) :
Every year Lata, a Class VII teacher invites a

female maths professor and a male nurse to|
her class to discuss careers in these fields.

Reason (R) :
Gender differences are
acquired through society.

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true,
the correct explanation of (A).

Both (A) and (R) are false.
Both (A) and (R) are true and

innate and not

but (R) is not

(3)

) is the
(4) (R) 18

(9) a7 HAATHE fawm H wafwma e
%1 &I | F8 TEal & |

(3) 98 HETeRS fawm ° Afaw FER 6
t@mmmﬁnqﬁr@m‘al

(4) T HIAATHH faHE W nr-.;:ﬁl 3
amfas S & UNE Hl AW H TR
T 2 |

90, Axefafad Faa1 F1 qigu ad1 Fel fawea F
, T AT ;

3FHUT (A) :

umaﬂam 1 s e v $ fafem 2,
I & é:&mqtaa‘immi%inuaanﬁ:m

ﬂﬁmuﬁmaﬁtnﬁw#ﬁma:qﬁamn
Srfaa i @ |

ﬁﬁm(ﬁﬁ)mmﬁﬁaﬂtmﬁw
3 wfifea & @ |

{) (A)TEIE, mmmaa%.l
\‘1{2} (A) ST (R) EFIT "l &, T4 (R), (A) =
o e T €| %
. (A)aﬂ‘(fma‘-ﬂﬂﬁﬁ |
:31 (maﬂnmaﬁm’@’r%mlm (A)F Ta

STEAT S |

correct explanation of (A).

(3 scanned with OKEN Scanner



P-1VE
23.

25.

26.

In a progressive classroom, the students :
A. do not ask many questions.
B. ask questions to the teacher,
C. ask questions to each other.
D. ask themselves questions.
Choose the correct option :
(1) Band D
(2) BandC
(3) B.,CandD

(4) A

Expectations associated with being male o
female are referred to as and these

are learned .

(1) gender roles; throughout childhood and
into adulthood

(2) gender  constancy; initially  during|
adolescence

(3) gender stereotypes; only during middle |

childhood
(4) gender bias; mainly during early | |
childhood 25/
. ) \N g
Which  of the following views about
intelligence supports the respectful I

consideration of diversity among learners ?
(1) Intelligence is not influenced
environmental factors,

by

(2)
factors.

(3) 1Q tests are the only measure of
intelligence.

(4) Intelligence is multidimensional and can

change over time.

Who among the following critiqued the concept | /

of ‘general' intelligence and proposed an
alternative theory of intelligence ?

(1) Jean Piaget

(2) Howard Gardner

(3) Lev Vygotsky

(4) Charles Spearman

::*rence Kohlberg’s theory has been |27
ill qued l':-:; Carol Gilligan for : o
'Bnoning  gender differences in moral

- reasoning,
ot applyin itative
. o £ quantitative methods of
! Presentin
. dﬂ;’flnpmgmu stage-theory of moral
Collectin -
ﬂituatim-i ‘ data by means of real-life

(8)
23

r{tﬁﬁnﬁmﬂﬂzﬁmﬁ.ﬁl’gﬁﬁ:
A, 3 wog 3¢ goa & |
B.  far 3 v qea £
C. UHKZHI {4 uyq qad & |
D. %9 1 ww goa # |
A8 fawey = o fifaw
(1 B3

(2) Banc

(3) B,C3mp

(4)

A

24/ g W wiftm oA wd omensii W

LR
() S= yfywnd;,  armEen f @

(2)
(3)

(1)

HILAS B A gaewa A ot

A2 fegran ; wriw 1 v & 2
e Ffeaifzar, waw e FegEEd $
TS YAMR; qed #9 | ynfie aeaEEd
&

e & w2 1§ fofafea § 8 =R sfewo
Fenfi % i fafaum % Tl faam &=
AN FAT R 2

(1)

(3)

g&,mmﬁﬁmﬁaqﬁéﬁ

v
Intelligence is not influenced by genetic | (2) gﬁ FHATH Fw F uwifaa FE BT
!

= =

& & 9 % fau

gig-afea qfiem #

& for i m 2 | L.
qrta®-sia % frafadi % mom | qe
FITFIHE AU A TR



29, Read the following stateme

30

Pl

&5
28. A teacher wants to help her stude
metacognitive skills.
strategies would be most effectjye 2

(1) Providing frequent grades and feedback
to motivate students

nts develop

(2) Encouraging students to refleet on their

own learning and evaluate thej, progress
(3) Assigning texts to students to memorize

and encouraging them

information from the textbook

to  repeat

(4) Providing students with detailed and

prescriptive instructions

for all learning
tasks

correct option : :
Assertion (A) :

Teachers should ask students to identify their
own examples and non-examples of the
concept for strengthening the concept.
Reason (R) :

Thinking of examples leads to strengthening
of the concept while non-examples tend to
confuse the students,

Which of the ﬁ:llnwim{:/

LR 145

i

e o
A e L
ﬁnfaﬁaanﬂaﬁq.rﬁwnﬁﬁmwﬁﬁﬁfh;

faenfdan = wemfea w5 5 3 =9 amy
Aam @ fam F sl s unfa
Uedie &

AN I 9EEEEF W IHE 2R
faenfd = mfi dan 5 =91 F foo

(2)

(3)

(4)

nts and choose thc\zg/ Frefofaa Famt #1 ufeu aar w@ faweg =

Wﬁﬁﬂl:

Wﬁlﬂ?m}:

el 1 dwea T # uAgd w4 & e
faenfd=i =1 3197 =1 & Hdaega1 & IR 3
. 32701 61 95 S % [0 FET R |
FI(R) :

WEON F A H HEd ¥ Hhedqdl H HAEd

| ' Hd 7 |

(1) (A)is true, but (R) is false. (1) mm'é’r%.trqmmm% I
(2) Both (A) and (R) are true, but (R) is not (2) (A) 3 (R) 2ET T -4 T (R), (A) £
. the correct explanation of (A). et s T8 2
@) Both (A) and (R) are false. 3) (AR FFA ML
(4) Both (A) and (El are true and (R) is the 4)  (A) 3T (R) 31 GET € G497 (R), (A) 1 Gel

correct explanation of (A). ST 2 |
General principles of learning suggest that|30. frm & e fagia @ar & f faend awa
students learn better if a teacher : Y\ =938 Fﬁ@ﬁ 2 afg ﬁmj‘ﬁ . -
(1) first introduces the concept in its (1) YRS @UWUN H IF WAHAS FI A

symbolic form and then moves to its
physical form.

first discusses what is not known to the
student and then comes to what the
student already knows.

first introduces the concept overall and
then moves on to the intricacies of it.

(2)

(3)

(4) first discusses the concepts In terms of

I“Hif-‘ and reason and then grants
opportunity to verify the ideas.

Waﬁaﬁ'{ﬁﬂmmﬁﬁmﬂ

3 | .

TEd 39 W 991 ® 9Es 90 7 fqend
2 o fe 39 W e W

(2)

&

(3) e o et ol |
TrS T 3N AU S HeH W SEumensi
o =t =t 3 fm fa=rd 1 Fenf w5
7 T 2 |

(4)



( 10 )

pP-1VE

Candidal
EITHER

es have 10 do questions 31 fo 90
from Part I (Mathematics n_nd
OR from Part IIl (Social Studies/

Science)

s =7 s 1
gAienfelar &1 w7 31 @ 90 AT /mmﬁrﬁﬂ

faar) ar s o (arrfad AT
farrT) @ & E |

—

——

Social Science).

i PART 11 / 9T 11

MATHEMATICS AND SCIENCE / fura o fagm

Directions : Answer the following questions by | e : et gogt & 370 27 & fam qall @aH
Iug %y giU |

selecting the correct/most appropriate option.

A teacher in her class discusses various
examples from daily life situations like a
railway line crossing several other lines, a
road crossing two or more roads, alphabets
like ‘H', 'Z, etc. -

31.

Which of the following concept(s) can be
introduced through these examples ?

A. Line segment

B. Transversal
C. Parallel lines
D. Right angles

Choose the correct option :
(1) BandC

(2) Only A

(3) Aand D

(4) Only B

32.  Which among the following is the most

appropriate way to teach mathematics ?

(1) Find the gaps in learning and address
them only

(2) Find the low performers and make them
sit in the front row of the class

(3) Teach every student with the same
approach

(4)  Motivate the learners to develop their

existing capabilities

J1.

32,

oF fofim s wen § o SiEd e
affeafei & @ fafim w1 T FA L,
3 5 3 qefe @ an 7Y U 1 e,
A AT Afus g H G H 73 TH qS,
3T avinren @ ‘H, ‘2, TR |
Frfafg ©f & fra/fed  STEUTON/SMEUTONS
1 Y= 37 2R gr fedn S Hehdl & 2

A. T@rgs

C. oYrat T

D. ¥H&HMT
Gﬁlﬁwwwﬁrﬁq:
(1) B3 C

(2) “had A

(3) A3 D

(4) H9d B

fF=fafaa & & Fwam v few = gatfie
39w alie 2 2

SUNIE BUL I IR G R0 S S T
3 A HaEa e

I TR T A A qrEn
Hall H1 A ofes 8§ Jamm

-

(3) UF W I g Y= faened w1 gz
(4)  SrTEES B s e @

(2)
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34.

35.

B s

33.

(11)

Which of the following is true for Continuous

and Comprehensive Evaluation (CCE) ?

(1) In CCE, assessment process includes
assessment  of  previous knowledge,
understanding level and learning process. |

(2) For CCE, teachers feel that cach one of

_ _ P-IVE

e s L PAUE YR (CCE)  fao

freferfaa 0 31 e wd 20 ‘

(1) e sz geme §, s e
H 94 [, #uza % = 3 sfam afen
&1 ke afofaa g e

33.

(2)

them has to give some home assignment
every day to assess children's learning.

(3) CCE is all about converting marks into
grades.

(4) In CCE, there is more testing and less
teaching.

Which of the fn]lnwing is/are essential features
of a concept map in mathematics ?

A. It represents a conceptual analysis of a

concept using contributory sub-concepts. |

They are directional, with arrows
showing which concepts are prerequisite
for which others.

They cannot be wused for diagnostic
purposes to identify difficulties in
learning a particular concept.

They cannot be used frequently as they
are very time consuming.

Choose the correct option :

(1) Band D

(2) Only C

(3) Cand D

(4) Aand B

B.

D.

Which of the following is neof true about

nature of mathematics ?

(1) Mathematics at school level requires

special aptitude in learners.

(2)
abstract in nature.

(3) Mathematics is based on deductive
reasoning.
(4) Mathematics is much more abstract and

hierarchic than most 0

|

f the other subjects

: - |
Primary concepts in mathematics are

J34.

e st =nys e F feaw, e
UEHH 4 2 5 390 1 2 vk W a= &
mgigfaffa s Fan g 2 |

fa ot =us gearea |, Fia/aiiam
sifus 2 3 forggu m 2
frafafga ¥ @+ | 9 v sEygmon
urataa 61 smavas favmand 272 2

(3)

(4)

A, Tg el -HGUTUNS] H I Fh
UF SEUTU % ddiid  (G9vedu i

f=fag s 2 |

B. 3 HHd faal & oy fzomeas 2 3 29
§ f5 FRHA sEaoom fFe fem
g4 311 2 | ‘ o

c. U fafire s@unon F Hi@s § @ T w
F GRETA F fou FE IEm A2
ydreHl & fore 4@ fr s asde |

D. %@ anan I9ET @l fHa T w0
TR 7 THG =49 HA ¢ |

d faweg @1 =3a fifu .

(1) paﬂtn

(2) @wad C

(3) C3MD

(4) A3IMB

nmﬁ?ﬁagﬁ;mmﬁ%mmm%:l
nforg 39 AT fawd # ger ¥ =g
sfys gd 3 TEThE @ S = I
39 § drEd @ |

(3)
(4)

which children learn at the same age.

SPACE FOR ROUGH WORK

| T T & fere e
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(12)

e, T B wa § ahfad” ¥ EEY T

the following statements are (g

p.Ile
" entation” in & frafafaa 4 3 $19-8 94 39 ﬁ_ﬁ"?

gs. WHP o regarding “Argum

;;ﬂ:‘iﬂﬁﬁ clnssrﬂndm? | . ) 4 A ™ T B wE ifF ¥ =9 1:[‘ ATET S
can be understood as a line ( T : =T
A. I .oning that intends to show or c:«:plmn m:.%' 91 92 ﬁ@ﬂ RINCLEL t__ 4]
Ry 8 M ‘ sult | Ta & f& forey gftoms @ 1 2 |
why a mathematical result is true. 1 o - b gﬁ-;n
. Itis always helpful in mathematics in the B. U8 I JqHETH faugi d@E &
' came manner as in other empirical nfora & gezm BT 3
disciplines. o C. I nfvm faen § w@a.anyg g A
E & ml;cl{:]:: rI]:;tl:IDnll}'TSt:ﬂﬂnrd;I;:ti::':urmm U e 7 wh 2
npprﬂ ‘ . . . . — i e % m
p. It is less useful for elementary grade D. md‘hm;ﬂaﬂ 1 rﬂﬂllzﬂlliﬁ a;%q%({ﬂg I
students as its assessment will be . ESRIL] g Wﬁ‘-ﬁ}’?thi HedTeh él’li
difficult. 771 fawey =1 597 SHifav -
Choose the correct option : (1) A3 C
(1) Aand C @ B3t
(2) BandC ) N i
(3) Aand B (3) A 31'17 B
(4} Aand D 4) AJFRTD

37. Which of the following statements is not frafafas & % s
correct with regard to a mathematics 37. @d 4 ¥ HHEE FHYA v <H

textbook ? UIa-3Ih % H99 O TE 777 8 2

(1) Examples in a mathematics textbook (1) o & YTSsl- 5 REAFRL| faenfem fﬁ
F:]n:'dtbe related to daily life of the %ﬁtﬁﬁaﬁ’ g qEf-ae '@:ﬁl ElT%Q |
students. 5] > =

(2) A mathematies textbook should have ) g mrrﬁ;fm?mmg H %ad 74 oy
solved examples only. (3) ﬁ:ﬁm '.;ﬁl A=Y | )

(3) A textbook of mathematics should not be B =R mfﬁ"m BRI I o B

very thick or heavy. R o

(4) A ftl;llhematics textbook should have %) i A % fe v
varied exercises (o nve i ‘-TIBEI-SEEE ﬁ ﬁ'ﬁqg o -
students, g pracsee Iy Ell;?-({l S o

38. octurn _‘
3 ;—‘mz:?:;;l m:tith::ml?tics s : 38. TG ¥ U ey -
ant at all as it does not help i ﬁ?@'ﬂ . .
relopi : . nelpn (1) :
= :m u]npl?g mathematica] understanding. e ﬁ;ﬂﬁm@iaqﬂjﬁ 2 HifH I8 it
Proposition or conclusion that b s C S 4 ez T e 3
: vaed ad> oeen {2) -q-aﬁ g.ﬁ'm o E > % a‘T !
3) Important for students of E‘r I Iilu‘: Bl W

0 I" - . Spmndﬂnﬁ le, l
nly ve {31mmw%mﬂ%%m

4)
Proposition . 3
assumed O conclusion that jq qgatﬂﬁ 2|

) to be t _ )
wpm“f. Fue on a tentatjve basis (4) T 3 T ﬁm _% 3‘1 _quT 5
Wmmmﬂcﬂnu-ﬂmg |
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39.

40.

The statement “1 less than or 1 more than a
multiple of 6 are prime numbers” IS an
example of :

(1) Generalisation

(2)
(3)
(4)

Theorem

Conjecture

Axiom

A mathematics teacher posed the following
problems to her students :

A. Simrat pays ¥ 60,000 as rent for three

months. How much will she have to pay
for a whole year if the rent per month
remains same ?

B. Cost of three dozen bananas is T 45.

Calculate the number of bananas that
can be purchased for ¥ 12-50.

C. Joey and Jenny are going to school. Joey
started walking before Jenny. When Joey
was at the third block, Jenny was at the
first block. If both are walking with the
same speed, then where would Jenny be

if Joey is at the ninth block ?

Which of the following is correct with respect

to the above three questions ?
(1)
(2)

Only A is based on unitary method.

unitary method.

(3)
unitary method.

(4)
unitary method.

B and C are daily life problems based on
A and C are daily life problems based on

A and B are daily life problems based on

(13)

40.

P-IVE
39. HU : “6 H TR A 1w oW 1 3w s
e 8,” H IZE R |
(1) \M=iFR ‘

(2) WUy
(3) THeAgal
(4) AR

v 1 vk fofaem e faanfda & =ms

A, Togm &5 wém & fFm & =9 d
T 60,000 Zdl 2 | AR & wEA F
9H R @ 94 & foo 33 e
21 B ?

B. 1 =34 *al Hl FMd T 45 2 | qiwen
Hifse &5 T 1250 ¥ fFaq Fa @iig =0
Hehd & |

Cc. TR M I Fa MwE | 78, F A
TEel TGOl FE w8 | | S A
=T T 91, 99 A4 U weid 9 Al |
afz <1 &1 T 61 fd U= 8, 9 94
A 9 =R TR a9 A1 FEl 2 ?

Iw dF uE % ded # Frafafe @ @

FH-91 98 B 7

(1) Fae A UHTHS fafa 9 I @ |

SPACE FOR ROUGH WORK | T &1

& feuaR
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4l.

42.

43.

(4) 260°

What is the mean of the mode, median and
range of the data given below ?

17, 8,11, 13, 9, 14, 10, 11, 16, 23, 15, 7

45.

(1) 13
(2) 125
(3) 135
4) 12

(14)

The area of a rectangle  whose sides are
176 cm and 656 cm is equal to the area of a

circle. What is the circumference (in cm) of the
22
circle ? (Take n = T )

(1) 396

(2) 352

(3) 440

(4) 308

The cost of painting the surface of a solid
cuboid of dimensions 40 ecm x 36 em x x em at
T 20 per 100 em® is T 1,032. What is the value
of x ?

(1) 20

(2) 15

(3) 24

(4) 12

PQRS is a quadrilateral in which PQ = PS and
RQ = RS. Which of the following statements is
true about this quadrilateral ?

(1) Its diagonals are equal.

(2) Its diagonals are perpendicular to each
other.

Each diagonal bisects the angle at each
vertex.

(4) Its diagonals bisect each other.

ABCD is a rhombus in which £ ADB = 25°.
Then, the value of (2 Z BAD - Z ABC) is :

(1) 230°

(2) 240°

(3) 210°

(3)

41.

42.

43.

45.

ﬁmﬁmw&m.ﬁﬂﬁwﬂscmﬁ
56 cm %, TF g ,;;mz?aum% 3
yfify (cmﬁ)wg ?2 (n= = efifera)

(1) 396

(2) 352

(3) 440

(4) 308

ﬁmﬁdﬂcmxﬂﬁcmxxcmmé@‘mm
%wﬁ?znuﬁlwncmﬂﬁﬂﬂﬁzm
1 @A T 10328 | xH HE TR ?

(1) 20 :

(2) 15

(3) 24
(4) 12

PQRS UH waiw 2, famd PQ=PS 3N

RQ=RS ? | 38 wqyw % =nt # Fr=iferfaa 2 4

FH-H FY1 HFI B 2

(1) 38% fa=l aua 8 |

(2) 35 fasol g o B |

(3) UIs fawdl ware sid 9w W
anfgufsaa = R |

(4) 39 fa=l yrogr gafenfag =4 8

ABCD U #q=qq+ #, f5md 2~ ADB = 25° % |
T4, (22/BAD - ZABC)®T HH B -

(1) 230°

(2) 240°

(3) 210°

(4)  260°

A feu M HiwEi F wwew, merw s ofom
&1 WY T 2 2

17, 8,11, 13,9, 14, 10, 11, 16, 23, 15. 7

(1) 13

(2) 125

(3) 135

(4) 12

SPACE FOR ROUGH WORK / T& &1 & e @me
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46.

47.

48.

49,

(15)

If x=+/198xV550 and y =

1
_— —
X YV
(1) 001 '
(2) 003
(3) 0-33
(4) 01

Jan
VOD x “u‘.'jﬁﬂ, then
is equal to :

If p=(1234 x 10'%) - (5:67 x 109). then p is
expressed in standard form gas -

(1) 1-1773 x 101 '
(2) 1-1773 x 1010
(3) 1773 x 101!
(4) 1773 x 101°

-1
By which number should [— -1-] be multiplied

4
so that the product is the reciprocal of

(_z]“‘ >
4 '

1y L

16

() 16
T |

3 - 16

7

(4) - L

16

If 313632 = pE X qﬁ X r“, where p, q and r are
Prime numbers, then what is the value of
(P+q-2r)?

(1) 8

(2) 7

3) 9

(4) 6

[ 486.

47.

48,

49.

A2 p = (1234 % 101) - (567 « 109 2, 71 p 7
HEF ¥ 4 5 g o e e 2

(1) 11773 x 10"
(2) 11773 » 1010
(3) 1773 x 101!
(4) 1773 x 1019

frm mem 4 [_:11.']”’ 1 T fe 0 A

7\ .
() o

ﬂﬁ313632=p2x q” x r"%."-ﬁﬁp.q'ﬁ?ﬂr
TS TG &, Al (p + q - 2r) 1 HE #0182

(1) 8
(2) 7
(3) 9
(4) 6

SPACE FOR ROUGH WORK / T% &Td & [0 ATTE



51.

02,

(16)

ks obtained by Sunita in her pre-hnﬂrd 50.

o :::;‘;Tnnlinn are as follows :

FW Marks

mish 72

“Hind 84

Mathematics 06

"Science 80 |

Social Science 68

If a pie chart is constructed for the above data.i
then what will be the angle of the sectt:ir
representing marks obtained by Sunita 1n

Mathematics ?
(1) 756°

(2) 72°

(3) 86-4°

(4) 64-8°

The volume of a right circular cylinder of 51

length 1-2 metres is 4620 cm”. What is the

curved surface area (in cm?) of the cylinder ?

(Take n = %]

(1) 2640
(2) 2200
(3) 2860
(4) 1980

If F, V and E are respectively the number of | 52.

faces, vertices and edges of a triangular prism,
then which of the following statements is
true ? |

(1) 4F+2V-3E =6

(2) 2F + 3V -2E =10

(3) 2F+4V-—3E=3

(4) 3F+2V-2E =11

aefren grn oard witan § e A4 faw g

fagy Hb
R DEL 72
f&dl 84
NG 96
fasm 80
gmfas fasm 68

afz I HATHST w1 U qIE A1E AT Al 2,
Al Fha gm nfoe § w3 B I AT
fr=rags 1 H1u a2 2

(1) 756° |

(2) 72°

(3) 86-4°

(4) 64-8°

frdl Tagem Fom 6 d= 12 e 3 3
THH! AT 4620 cm® 2 | g5 F Ah JLEHA
m(cmgﬁ)m%?(n=2—72-ﬁhﬂ‘)

(1) 2640
(2) 2200
(3) 2860
(4) 1980

afe F, v 3 E s foeedt fngemen fien &
%orhl, el o feami i g @
frfafaa 4 | S Fam g=r 2 2

(1) 4F +2V-3E =6

(2) 2F+3V-2E=10

(3) 2F+4V-3E=8

(4) 3F+2V-2E=11
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:,.gj; (17 np—

3. pisa point on line AB and PQ is a ray such | 53. @ AB W U+F, faz p foua 2 am PQ U -
that £ QPA = Tx and £ QPR = 5x. Then, the I L O (;p\ _m 3t A
f(8x—10")1is: ' A=Tx31 £QPB =06x R |

value © 1 a4, (8x — 10°) &1 H 2 -
(1) 118 (1) 118°
@ 110 (2) 110°
(3 140° B (3) 140°
4) 102° (4) 102°

54, Sisapomnton side PQ of a triangle PQR such | 54 frefl @ PQR 1 W@ PQ WS UF 3 R
that RS = PS = QS. If « QPR = 15° then the | REQL frem % F RS=PS-= QS % |\ =fz
value of (2 £ PQR - ZPRQ) is : / QPR = 15° 2, @1 (2 ZPQR - £ PRQ) &1 WH
(1) 50° ®
(2) 60° (1) 50°
(3) 45° (2) 60°
4) 75° (3) 45°

55. When a shopkeeper sells item A for ¥ 384, (4) 75° _ i o
then there is a loss of 20% and when he sells |85, 94 U=h EH'TFPI“ g+ Al 7 384 91 991 B, dl
item B for T 400, then there is a profit of 25%. Iq 20% ! BIA BTl 2yl FE SR 94 B |
What is the profit/loss percent, if he sells both > 400 QU 3=l £, d1 I/ 250% 1 T W Bl
items for a total of T 8527 g|qﬁ-‘agg‘ﬁizrﬂaﬁ£}§quﬁm%ﬂﬁg |
(1) Profit, 6:5% q 39, d1 391 am/Ff afqea =1 & 7
() Loss, 5% | (1) @M, 6:5%
(3) Loss, 7% (2) @, 5%
(4) Profit, 7-6% (3) WA, 7%

56. A sum of ¥ 12,000 amounts to Z 15972 at a 4) @, T-5% .

. 1 '
certain rate percent per annum in 1—2- years,| .o F 19,000 £ s Tl e f1fraq ufaem arfier

when the interest is cumpuunded half-yearly. | 2 | 1 LR L 1‘1 i g T 15,972 7 A B, 74

What will be the amount of the same sum in | = aﬁaﬁ‘a‘%mﬁa A R | TR 7o 393 @
same time and with the same rate, if interest w1 T =T 2 A e 31 o, itz =
is compounded annually ? s A A 3 9
(1) 215,840 (1) T 15,840
(2) T 15,420 r} (2) T 15,420
(3) ¥ 15,950 (3) T 15,950
(4) T 14,520 | { (4) T 14,520
1 WORK [ T @14 & [e7q e
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R
”"‘:-:::h- y - 20x 4 2xy
0 . - .
(1) ¢ vitlue of (a— |, i X+ a) (bx 4 9y,
(2 ~) ’
(3) _g
(4)
6B, It A =x2(1_ 3y2)
C=: , o Bz oy (g2
A :F W = axty), then 2720 ang
wr : ~C=pxty ax?y2 , . 2
1L 15 the value of (5
(1) 19 P+ q-p)0
(2) 10
(3) 18
(4) §
59 Whi
. ich of the f Howing s 3 s
19 ollowing are divisible |y 2,3 and
A. 8448
B. 9819
C. 9196
D. 9636
Choose the correct option :
(1) AandB
(2) BandD
(3) AandD
(4) Aand C
60. The solution of the equation

(XN+1)—=(2x +4) _ —1—'* is also the solution of

L]
ey |

3 - DX

the equation :

Bl .=
A

[a} "5
7 gy

= 8y - 20x + 2xy = (x + a) (bx #+ 2y) ®,

31| (1 "I}]"'.'[-ﬁ tn:] i‘ '

‘g

58,

4) 8

ﬁnfﬂﬁaaﬁﬁafmiqz,saﬂulﬁﬁm%?
A, 8448

B. 9819

C. 9194

9636

o1 1 7 Hif -

AN B

B3 D

A3 D

A3 C

29,

D.
el
(1)
(2)
(3)
()

T (x+1'=(2x+4) 1
‘ 3 - 5x - 23

U] 1 W1 7 B

60.

+ 'A, fA

(1) H5(2x+1D=3(x+1)
(1) 5(2:~:+1‘l:3[:~:+.]l ) 3(2x+3=2(x+3
(2) 3(2x+3=2(x+3I) (3) 3(2x+3)=5(x+1)
(3) 3(2x+3=dKx+1) 4) 2(2x-3)=3(x+1)
4) 2@2x-3=3x+1) e R

SPACE FOR ROUGH WORK / ™%



61.

62.

65.

(19)

Rend e Hmh?mm"“ given below and choose
the correct option :
Assertion (A):

stomach produces hydrochloric aei
in breakdown of food. acid that helps

Reason (R):
Digestive juices need an acidic medium to act.
(1) (A)istrue, but (R) is false. |

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(A) is false, but (R) is true. | l

Both (A) and (R) are true and (R) is the
correct explanation of (A). |

(3)
(4)

What does the term ‘nitrogen fixation' mean ?
(1) Conversion of nitrogen compounds into
gaseous nitrogen
Conversion of ammonia into nitrates by
the bacteria present in soil
Release of nitrogen present in dead
organic matter back into soil
Conversion of atmospheric nitrogen to a
more usable form for living organisms

(2)
(3)

(4)

At which of the following positions does a
spring have the least potential energy ?
(1) The spring is neither compressed nor |

pulled out and 1s lying on the ground.

The spring 1S compressed to the minimum

and is lying on the ground.
The spring 18 compressed to the minimum

and is placed at a height.
The spring is pulled out to the maximum

and is placed at a height.

set comprising cold blooded

(2)
(3)

(4)

Identify the

organisms.
(1) Lizard, Parrot, Dolphin

(2) Pigeon, Humans, Lizard

(3) Snake, Frog, Cockroach

(4) Whale, Frog, Earthworm

rs of units are used

Which of the following pal :
] quantity 7

for measuring the same physica
1) kgm/s?, Nm
(2) kg m?s?, Ws
3) kg m/s?, Ws
4) kg m¥s?, Jis

61.

62, SEoieA AR =2 H O 5 R 2

l

PR
frafafiga w93+ ofge am w6 fawe
Zaa HH "
arﬁra-*mw.; )

WIS % NEE O HETIA & R ) |

@b (R):, e
mﬁmmlmmﬁmmwm £
(1) (A)FA R, 94 (R) T 2 |
(2) (A) 3 (R) 21 |8 &, 974 (R), (A) H)

& = TET R

(3) (A)TEE B, T (R)HA R

4)  (A) 3 (R) 21 HA R a91 (R), (A) F1 #H
e & | |

E|

Ll

1) A A & fEE wE

YA

(2) g&1 ® aofeaa (feamm) SfEmsn gm
ST w1 AR H FIE

(3) §a Ia ogd # Iufeaa (feemm) g

(4) SifEa grfﬁr!i'i‘% form,  sifus  DIURIPE?
(W) ®W ¥ AGHEEE AREA W
YT
63. frffig © & feg oaftafa # fam 8 =
(wFn-a-) fufes w3l & 2 2
(1) e &1 7 A wdirea fea T R A A
@ﬁﬁiw%waz_@mmgmil
(2) ‘@hﬁwwéﬁﬁafm(m)
T 2 Ao a8 fE T T R 2 |
(3) @ﬂﬁ:@aﬂﬁqﬁéﬁmma
Ao R Sard T @ TR :
(4) Eﬂﬂﬁ"taﬁqﬁﬂﬁmd’iﬂm?ﬂmﬂ
ST T T@1 TR |
64. mwﬁwmmﬂw
sﬁaﬁm‘tatrrﬁtz_%mw%l
) e, dmm, SicH
(2) Hear, W, el
(3) Hﬁ,ﬁaﬁ,ﬂa
(4) &d, Heh, P . -
65. ﬁ::;ra‘r‘@a) ﬁﬁﬁ“ﬁ-ﬂmi‘q{;:;g?
zﬂﬁmuﬁaﬁmﬁmmm -
(1) kgmlsz. Nm
(2) kg m?/s°, :"‘75



P-11/E
66.

b7.

68.

Read the following paragraph and choose the
option with the set of words which would fill
the blanks correctly in the given order.

During fertilisation, the sperm cell from the
father and the egg cell of the mother fuse to
form a __W__ which divides repeatedly to
give rise to a ball of cells, The cells begin
to develop into different organs and tissues.
| rels

This developing structure called hY
. The stage

embedded in the wall of Y
of X in which all body parts can be

identified is ealled Z

W. X, Y, Z respectively are :
(1)
(2)
(3)
(4)

zygote, foetus, uterus, embryo
zvgote, embryo, uterus, foetus
embryo, zygote, fallopian tube, focetus

zygote, [oetus, fallopian tube, embryo

Which of the following reactions are not
feasible ?

(1) PbSO4 + Fe
(2) Al + CuS0,
(3) Zn + CaS0Oy
(4) Mg+ ZnS0,

Which of the following graphs are straight

lines ?

A.  Distance - time graph of a body at rest

B. Velocity — time graph of a body moving
with uniform acceleration

C. Distance — time graph of a body moving
with uniform acceleration

D.  Velocity — time graph of a body at rest

Choose the correct option :
(1) A/ Band D

(2) A,BandC

(3) CandD

(4) Aand B

(20)
g6, Frefafian ar=os @1 dfgn @a1 38 I HE

G7.

68.

=W
g
(LT

ar Frrey w1 A A @ fR AR TR R

F«mnqmﬁfraawrﬁaﬁﬁl -

fiir % @ faan 3 Fh1v] 3 WAL STE

A @@ w A @ S B e

it frage Aifarma & TiTel H @ee Sl E |

Fiforerrd fafi sl s el o Gl A

ol § | ww fawtad @6l AT F
X wFgd aroa fd _ Y :ﬁﬁtrrrn

T 7 S 2 X @8 sfeEdl T

mft wfifr v i ggEE 8 " 98 __Z

HEeATdl & |

W, X, Y, Z %A B

(1) gm=a, ™, nafea, Yo

(2) AR, YOI, TivrE, T

(3) YO, T, feganfed aferm (srsanieH),
Y

g, m, Fegfeet e (siEarfe),
A

fafafiga sfufenesd
TR

(1) PbSOy + Fe

(2) Al+ CuSOy

(3) Zn + CaS0,

(4) Mg + ZnS0,

ﬁmﬁwﬁaaﬁﬁaﬁq-ﬁmmtﬁhmﬁj(aq
@) & 2

A. mmﬁﬁiy&ﬁaﬂqﬂ_mm
B. UHHHE =W % @4 nfawe fieam

(4)

4 @ERH W

7 — OHF UTH
C: Wﬁm?ﬁmﬂ nfawH frems
Zil - W U
D. fom s 8 fogae = an -3 uw
(1) A,B3MD
(2) A,B3NC

(3) CHTD
(4)
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69.

70.

1.

(21)

pensities of four liquids A, B ¢ and D are
given below !

Liquid A B '+ D
pensity (kym®) 785 820 994 1020

Based on this information, identify the correct
statement from the following :

(1) An object that floats in liquid C may or
may not float in liquid A.

An object that floats in liquid A may or
may not float in liquid B,

(2)

(3) An object that floats in liquid B surely
floats in liquid A.

(4) An object that floats in liquid C surely
floats in liquid B.

Read the following statements and choose the
correct option :

Assertion (A) !

Electric current is a vector quantity.

Reason (R) :

Electric current is a quantity having
magnitude as well as direction.

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is false, but (R) 1s true.
Both (A) and (R) are true and (R) is the
correct explanation of (A).

(1)
(2)

(3)
(4)

Which of the following cell organelles contain
their own DNA ?

A. Plastids
B. Mitochondria
C. Nucleus

D. Vacuole
Choose the correct option :

(1) CandD
(2) BandC
(3) A/Band C
4) ABandD

69.

70.

PLIVE
HE 7l A, B, C 3 D wgea = oo § .
7 A B C D
aqed (FFmaft!y 785 820 924 1020

g oAl W sman i, fsfafioa 8 8 90 wam
61 gEEE S

() wEEAImcndmiam AW
i Hqearan & 371 a7 oft |

2) tEfam iz Al dAmEaeza B ™
il TeRar 2 30 71 oft |

(3) U feapmg o oz@ B W dr R g fHfvaa =9
R7a AY M dm |

(4) U fama w1 7@ ¢ ° a2 9w fafr=a w9

aza B # 1 dom |

frofafga wua &1 afze a9 &6 fawes &
977 #ifau .

fEHT (A) :

fazm um uss afew nfa 2 |

7% (R) :

faga om g ofa ® foms 9w ofmw &
mrga1g fzon i 2

(1) (A)Hel 2, T (R) T4 2 |

2) () 3 (R) 2 A E, T (R, (A)
el = TEE |

(3) (AT R, 90 (R) HE R |

(4)  (A) 307 (R) ZH1 FE & 947 (R), (A) 1 Fal

=T R
frf=fga § 8 fam Fife 3 3 =9 &
gou Fafaw 2 2
A. ﬂﬂ*(kﬁﬁ?@}
B. TEHUM (AEErE-541)

c. iy (HfFeas)
p. fiwa

a7 faweq =1 9ua Ffo
(1) C3WD

(2) B3mC

(3) A, B3NC

4) A,B3MD
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P-1VE (22) o ‘ : &
72.  Which of the following statements about the |72, ﬁﬁlﬁiﬁaﬁ -Fl q Eﬁ‘!’l-ﬂlfﬂ WF‘ it
cells of living organisms is/are correct ? wiforFIst % gay 4 gi 2/ ?. -
A.  All are microscopic and cannot be seen A M ey () 7rd & ad1 3
with a nnkr-dl Il-}'ﬂ." i & T8 T 0 3 2
B. All have a cell wall. 2 I‘Ii I 3
C. All have a nuclear membrane. B. i fFI'ﬁ‘TEFl fafa ?‘Fﬁ 3|
D. All have a cell membrane, C. Il $: ?F-aiﬁl'a Fs:r;?fl B Gil ‘
D. @t H Fiferwr fag w1l R

Choose the correct option @

(1) Only D - qel fasey &1 =gm difa

(2) Ann:iig (1) = 4 D
Y ook i | @ AsimD
(4) Only ¢ (3) ‘Ba-ﬂ'l'{]
73. Select the set that correctly matches the type (4) e A
of waste given in Column A with the - . :
approximate time taken by it to decompose [73. I8 HH=T F1 994 FHifsu 1 TT‘I’FITI A ﬁ g m
which is given in Column B, g (F=1) % W& F Hiad B 3 <G n
Column A Column B gHh g Hqaed | EFF-I e AT {HE < {149
a. Plastic bottle 1. 2 -5 months Fﬁﬁ gﬂf" H Tﬂ%ﬂ al | _—
b. Silk scarf . 1-2 weeks BIcTH A . PICTH
c. Cotton shirt  iii. 10 - 30 days | a. faTﬁza: fNa@asws i 2-5HR
d. Banana peel iv. 4 years b, Torfi =amE (?.-Tul?l'ﬁ-'n ) ii. 1-2 @HIE
e. Pﬂf}['.‘l' v, Several years C. mﬁ ?F‘:ﬁ?i (?‘i) . 10 - 30 ﬁ:‘
d. &a =1 foas iv. 4 99

Choose the correct option :
(1) a-iv, b=v, c=iii, d=i, e-ii e. ThITHA V.
(2) a-v, b=iv, c-i; d-ii, e-iii "el faweq =1 =w7m Fifau

(3) a-iv, b-v, c-ii, d-i, e-iii (1) a-iv, b-v, c-iii, d-i, e-ii
(4) a-v, b—i, c—ii, d—iii, e-iv (2) a-v, b—iv, c—i, d—ii, e-iii
74; A ﬁ.‘ﬂthﬁ'r nf mass 15 4 iS drnppod fmm a :3‘: 2_:::';]_i? ;:Elil.l;l(—liili: Z_II::..

height. It is found to fall with a constant e e -
velocity. What is the net force actingonit? |74, UH JHEE H 15 UM Z9HE F1 9@ 1S AT
2 | T8 9T S R o 9w vwEwm an | fim

I 99

(1) Zero
(2) 147N 2 | 38 W FW FE 9ra] 92 79 Foha 2 2
(3) 147N (1) 9
(4) 147N (2) 147N
75. An ion X is obtained f l X (3) 14TN
ed from an element X @) 147N

(atomic mass 27 and atomic number 13). The
number of protons, electrons and neutrons in | 79-

x-"*‘ AT a9 X (TH-ZEEE 27 37 9]
FATH 13) F U BRI R | X3 H we,
TFgAl 31T =gl 1 He wh: R
; (1) 14,1331 10
(2) 10,13 and 14 :
. (2) 10,13 3T 14

N )

, 13 and 10 (3) 13,13 3T 10

(4) I
13, 10 and 14 . (4) 13,10 ¥ 14

rle o .
X" is respectively :

(1) 14, 13 and 10




76.

77.

78.

79.

(23)

[dentify the set comprising plants that
produce bisexual flowers :
(1) Cucumber, Papaya, Rose
(2) Mustard, Rose, Petunia
(3) Corn, Cucumber, Petunia
(4) Corn, Papaya, Mustard
Identify the incorreet statement :
(1) Clayey soil is better aerated than loamy
soil.
(2) Clayey soil is more fertile as compared to
loamy soil.
(3) Water retention capacity of clayey soil is
better than that of loamy soil.
(4) The particle size of clayey soil is much
smaller than that of loamy soil.
Which of the following substances are present

on the rubbing surface of a matchbox ?
(1)
(2)
(3)
(4)

Glass powder and red phosphorus
White phosphorus and glass powder
Red phosphorus and magnesium |

Potassium and white phosphorus

A and B secrete their hormones

when they receive orders from gland ___C

Which of the following can A, B and C
respectively be ?

(1) Pancreas, Adrenal glands, Thyroid
(2) Thyroid, Adrenal glands, Pituitary
(3) Testes, Ovaries, Thyroid

(4)

Pituitary, Pancreas, Thyroid

The image formed by a pinhole camera is real.
Which of the following statements offers a
suitable explanation for this fact ?

(1) Light diffracts on entering a small

opening.
(2)
(3)
(4)

Light travels in a straight line.
Light is a form of energy.

Light changes its path when it travels
from one medium to another.

79.

77.

78.

P-1VE

76. I FH=A H wrEm Fifwv A BRER ged

(Pl ) T I HI G g B R

(1) @, afta, ==
(2) @, e, et
(3) w1, i, fazfen
(4)  WFH, gdiE, 133

T F94 1 9gaE Fifqo

(1) guédl gz f aen fawh gz wfus
HaTaa &l 2 | '

(2)  ZHE g1 1 qern 0 fawdf g s @
Il R |

(3) WA ga1 i e faf gz & Se an
&THel AR FIl R |

(@) faa gz & ol F s g ga @
F %k HAWY F FUEFHA Fgd D
(q&m) 2 2 |

fr=fefEs @ @ F19.8 w2d mifew 5 fFadn g
9 faemm 84 2 2

(1) 1= o1 o 3R &6 BIERIH
(2) 79d BIPHEH 30 Fig F1 Ui
(3) oA BIEHTH 3 Arfiform
(4) iy 30T vEq HERTE
A 3 B 34 A a9 Wifda Fd
tsaIRAY C | IEY WA A2 |

fofeafes § 8 95991 %99 A, B 3 C &
q&dl & 2

(1) 3=y, Afugas (vfgaa) uiadi, 9Riss
(2) gUss, Afuges (Ufgae) aie, drp
(3) guUl, ASE, T3S

(4) dru, IP=AWE, 4IEsE

2 | fofafEa § 8 F9-W F44 30 7 F
I9H SATEAT Ve FAl 8 ? _
gEm oie @ gE (J7) B WAW FA W

(1)
faafda &1 = 2 |
(@) T Hidf @ d T FE R
(3) el T 1 UF EY (F9) R '_
(4) T 9 U WISAH A gEt H T

ﬂaagmqaqﬁﬂﬁamﬁl



(4)
cellulose.

82. Which of the following is/are true about the
curricular practice currently being followed in
schools ?

A. Science and Mathematics are being
taught integratedly as ‘Science and |
Technology’ in elementary classes,

B. Physics, Chemistry and Biology are being
taught integratedly as ‘Science’ in
secondary classes,

C. Science and Social Science are being
taught integratedly as ‘EVS' in primary
classes.,

Choose the correct option :

(1) BandC

(2) Aand B

(3) OnlyC
(4) Only B
83. A group of students is engaged in an activity

B4.

(24)

P-1IVE

g1. Identify the open-ended question from among

the following :

(1) Why can humans not digest cellulose ?

(2) What is cellulose made of ?

(3) What would happen if humans could

digest cellulose ?

in which they are measuring the boiling
temperature of ordinary tap water in a beaker.
Which of the following is not a suitable
indicator to assess them on this task ?

(1) Pay due attention to the Ieast count of the
thermometer

Ensure that the thermometer does not
touch the walls of the beaker

Measure the boiling temperature as
100°C

Use a stand to suspend the thermometer

(2)

(3)

(4)

Which of the following cannot be considered
as a valid reason for including socio-scientific
issues (such as the GM food) in the school
science curricula ?

(1) Develops argumentation skills

(2) Helpful in cultivating understanding
about nature of science |

(3) Di:\'ﬂ'lnps the capacity to engage in

evidence-based reasoning

HL-Ipi_'ul in appreciating science as a

definitive discipline

(4)

Bl.

Name any five organisms that can digest | go

ﬁnﬁf@aﬁﬁmmﬁw@g‘?

(1) WHa Heqer 51 @) A6 91 1o
(2)  HAAH Faragiy =1 g1 R 2
wmﬁﬂmmﬁmwﬁm{
qfaﬁiisfﬁiﬁ:mm?ﬁﬁ

-

(4)

TH 27 9

uifiyd gensii § fasE @ O

A. ,
wrFA w B fage vd dis A
9T A R |

B. wWeAfim wmansii § s, TEEA-EE
Ui Sftafas @ whga w1 A fawe
LA A0 1 1 A

Cc. wyfus Fwenai 4 faam ,m
fasma %1 v w9 8 Sdivw H AR
9T AR |

(1) B3C

(2) A3IMB

(3) FHad C

(4) HaaB

faenfii & uw wqr w1 us vHl nfdfaiy ®

Her fae mn 2 faend @ e d A= A9 %

9l %1 FEYT A9HE (FEYETE) 5 @ 2

FefafEa 5 8 #9-a1 39 F1d 1 3R A6

39YH HEah TgT 8 ?

(1) ZHMHIE & Feqanisd (SFad THT) W
qH 20

(20 @ Hfrwa s f5 amifie fam 6
<11 =R U T

-

FO & T A A 757 o gy 2 o

1) - e w e w

(2) ﬁﬁﬁﬁﬂﬁ%mﬂmmﬁﬁ
HEITH 2

3) HIE-SUNE T § Hom w3 6wy =

(3 scanned with OKEN Scanner



83.

87.

(2

Afler teaching the chaptep ‘Respiration in
{‘)rgﬂniﬁlﬂfi' in C‘in'ss VII, a teacher performs
the following acvity with her students. They
take three test tubes and fi]) g74th of each with
water. The test tubes are labelled as A, B and
C. They put a snail in test tyhe A, a waler
plant in test tube B and in ¢ they keep snail
and plant both. The teacher then asks the
students which test tube would have the
highest concentration of CO,. Which process
skill is the teacher emphasising in this case ?

(1) Predicting

(2)
(3) Measuring

Estimating
(4) Question raising

Which of the following is not correct in respect

of the activities suggested as part of ‘Extended
learning’ in textbooks ?

(1) These are an important value-addition to
children’s repertoire of knowledge and
skills.

These form an
students’ evaluation.

(2)

(3

conclusions on their own.

(4) of

Some these enhance

society at large.

Which of the following is/are ordinarily not
implied in the context of ‘Content validity’ of

Science curriculum ?
A. The content is updated.

B. The concepts are accurately represented.

C. The concepts are trivialised for some

learners.
Choose the correct option :

(1) OnlyB

(2) Aand B
3 A BandC
(4) Only A

important basis of

Some of these require students to collect
information of various kinds and draw |

children’s |
interaction with experts, teachers and

o)

P-1/E,
FEVIE 0 S § vama’ ws el * Y7
frfarm s faenfdai % ma ﬁt{fﬁfm

nfafafi wwlt & 1 & i st R
9 h A4 (FRevad) B ow|m B ow g
TEAfE wOA, B vd ¢ F w9 H sifE w
# | A wEael A ° a9 2eE 29 3, yngae p
4 W6l 9y 30 ¢ H oA 9t s g 29
zd # | fuferm &= faenfidan & qoed 2 f5 fam
qrEAell § COg Tl I=ay HiZ0 21 | 28 e
1 forferam fm uiFn ssm wam 2 @ 2 0

(1) gaiquE

(2)  IHA ATH
(3) HIYA
(4) 9% M

qrea-g&aenl § ‘Tarfm sfum’ & uym 3 =g 1

yefaa nfafafimi & d&5u 4 fefafaa 4 =

@I-H1 HEl 7g7 2 7

(1) 3 991 & 7H U A & T9eA F fen
HETEqYl Hed-HayA 2 |

(2) ¥ foenfdai & gearra @1 wEeEqel am
41 & | .

3) ¥ B Fo A fqufdai gr fafim wan &
HeH U F4 o 3 =9 Fremd feren
6 IEvEEHD Bl B |

(4) U B F9 gaq ¥9 9 faums, e o
TS & Y 9= §1 3a.fFm | 9er

2 |

87. fagm ge=gl f1 fawmam dua’ & =@

i fofafgs 1 9 #1978 9m=E. gt
72T waa & ?

(¥ Scanned with OKEN Scanner
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88.

89.

(26)

Which of the following can be considered as
the most suitable rationale for team teaching ?

(1) It s an effective Htrnlug}' for large sized

classes.

(2) It benefits the students with diverse

expertise.

(3) It makes the task of assessment easier.

(4) It 1s
participation.

helpful in increasing student

Which of the following would be the most

suitable activity to introduce the concept ﬂflﬂﬂ.

image formation in spherical mirrors in

Class VII students ?

(1) their

images at various positions in a plane

Students are asked to observe

mirror,
(2) Students are asked to play with shiny,
steel spoons and observe their images in
it.
(3) Students are explained the laws of
reflection,
(4) Students are explained the process of

drawing ray diagrams in curved mirrors,

Which of the following is not implied by the
statement ‘Good science education is true to

the child, true to life and true to the
discipline’ ? [
(1) Science education should help the

students acquire the processes of science.

(2) Science education should build a link

between the child and his/her
environment.
(3) Science education should train the

students to remain disciplined in school.

(4) Science classroom practices should be

developmentally appropriate.

BA.

90.

Crafeafias i @ fly dm (7o) @ % fav
FAR I awun 5 wq A e e

HFEAT R 2

(1) %% g&q sy drefl
PEICIRUEIGE N O

2w fafay gfawa aw@ faenfdan F A
qEET R |

(3) Hm%m@mmm?‘m
) "7 famfdd € s # 3@ F H
HEAF £ |

Frefafim & & wen vi % faanfddi 3 el

advii 3 wfafie w6 s@uron w1 W B

# fore wad 3wy nfafafu SR &l 2

(1) faenfddi % v gwaa zdu # fabim
safeafadi § a9y wfafaml &1 g
FH & fau &7 FE@ 8 |

2) faaf= 1 9o a 999 % 919
Weld a9 I 3794 Ufdfal w1 ITaciieA
&1 & fau w2

(3) faenfdai =+ qada & fFan W fev o
2

(4) Taenfd =1 @ 29on o feoor ama &

@ i ufrm v ) Sl R

ﬁn@ﬂiaaﬁﬁm‘h.mmmﬁuﬁaﬁm

71w {6 ‘aredl fasm fran a=1 5 s,

S F ge I famfaie (semR) @

ITFA B 2

(1) fom foen = fasm 99 wfrnsd
Affa 4 A faenfddi 6 gema w4
=1fRT |

(2) fasm e =1 7= 3 3% amam &
ararEl F #9 UF FE 9w |

@ fam @ = e @ oa 6
s &4 F o0 sfafem e o )

(4) fasm wan F9 fawmres =y & 39aE
g4 =R | ”

(3 scanned with OKEN Scanner
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?Eg P-1VE
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E‘Ir:ndnj?h;m‘:'"'" ‘;,n":; ‘ﬂ‘; q:;:ﬂ::rrm 31 to Ht: wdierferal &1 9¥ 31 H 90 @7 71 wpr 11 (wfor 4
y N o
SR PGIE i " i s et fo) a1 4T 0 (s |
ngggfjlﬁﬁ'—!ﬁﬂf Science), famm) @ &HE |

PART I11 / w7 111

SOCIAL STUDIES / SOCIAL SCIENCE (\maTfaas #eaaa [ gt fEwm)

pirections ¢ Answer the ﬁ!ﬁnu-ing questions by
selecting ! he correct/m "3"‘ appropriate option.
3l. Consider the following assessment question
‘What are the ways in which people car
participate in a democracy 7 Following are
some answers that you get from students.

Which answer  reflects  the student's
understanding of the question and higher
ability to give a comprehensive ‘to-the-point’
answer 7 _

(1) ‘Some kev elements that influence the
working of a democratic government
are — people’s participation, resolution of
conflict and commitment to equality and

justice.”
(2) ‘Voting, dharna, rallies, social
movements.'

(3) ‘By voting in elections.’
(4) 'In a democracy, people participate by
voting in elections. All governments are
elected for fixed periods. In India this
period is five years.’

Consider the following assessment question
‘What is the difference between weekly

markets and shopping malls 7
Below are some answers written by students.

In which answer does the student fail to

display ability of comparing/contrasting ?

(1) ‘The products sold in weekly markets
could be bought at cheap rates whereas
only a few people can afford products sold
in shopping malls.’

(2) ‘Weekly markets do not have permanent

shops whereas the shops in shopping

malls are built to last.’

‘Weekly markets run in both rural and

urban areas whereas a shopping mall is

usually seen in urban areas.’

‘Weekly markets are markets which are

held on a specific day of the week

whereas shopping malls are
multi-storeyed buildings with shops on

32,

(3)

(4)

different floors.’

fFaer : [Efcifaa weat & 3 27 & fao agftiwas
i ey gfiv |

a1. / Frafafaa yeaiwa dad g 9 faam i .

3

‘a4 @ A a3 owefief
qHd B 7 4@ g fau o T A AR

feem o &

FA-m I famefi % e W EnEE i
st ‘fawrmga’ 3 23 @ amda w1 9EEE
HA B ? .
‘SHRAIEF "R % H9Tad Wl WTEd

(1)
FH 9T F9 A a4 A — ¥4 WEiig,
dad F1 AT 30 JEEE 9 = % 9fh
yfgaga 1

(2) - ‘magA, g, e, amfEs AR |

(3) ‘g@ § HaeH g ||

(4) ‘ETHaa |, dM g9 H JagE g Wi

Fd 2 | afl gn v Ay o &
feu o+t =t € | wRa | 7@ smEfu uie 9y

HR

I

:L:g/ﬁmﬁlﬁaamﬁétﬁmmﬁan@ﬁq:
‘amr%mmﬁmfﬁmﬁaﬁwﬁm?'&/

7 faenefi 19t gem/sta & 9 Foama
Weuld & H FEE fg@ar 2 7
‘Greaifes aram # fawa T qmE g3
Z0 W @iz M TFd 2 FafE Wi qid o
faa a9 HHA F1 A F @M Al T8
L HEA B |
‘Frearie aram H Tl 7R T A R
Faf v Wid § gEE @4 §HE T
“HreatfEe aTAT AN 9 TR g & H

(1)

(2)

(3)
e wifen Wi W TR & W
AR

& frdft fafrea A @md
tifsei o gHH Al A |

e

(4)

(¥ Scanned with OKEN Scanner
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-11

) students of Class VI question that if they33.

. f;;:’:; is not flat, then how are maps showing
everything as flat ?

34.

35.

36.

What will be the best way to address this

question ? '
(1) Showing animatedly how

globes resemble our Earth

maps and

III

L w =
”‘i

& o

Fel \flﬁ;wfamﬁiwmﬁﬁﬁﬂﬁt{a@
mqﬁ%.”ﬁ;miﬁa#ﬂwwmﬁﬁm
27 _ ’
™ WA W Hafum w W #aAS W
fiF 8 Aty

CAU L,
(1) #fEm & ma g8 @ b 3
3i eira, waTh gz A frera-ge €

(2) Showing the maps to the students 2y famfds = gefag T

(3) Ask them to find out the reason (3) TR 3= A o gl A @ T, FeAl
themselves ce n o8 A

(4) Showing the globe to the students 0. {F-‘“ ﬁ_famf& J;:;l Igﬁ ‘IE{:T??" q—tﬁ faFe =

Read the following statements and choose lllti. 44 ?-ﬁlﬁl'ﬂ, :

correct option : - 3rEYT (A . o

Assertion (A) amifas fagm =1 Fen & A9 I G HAY

Socinl Science has a strong correlation with 21

Arts. 7% (R) : .

Reason (R) : CECTIL i wrfaaiaes ﬁﬂFqT&ﬁ“

Paintings, sculptures, prehistoric artifacts, ganﬁ; ' fasm & Fe TEH &

ete. represent proof of many domains of Social
Sciences.
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(A)is false, but (R) is true.
Both (A) and (R) are true, but (R) is not
the correct explanation of (A), '
(4) (A)is true, but (R) is false,
Read the following statements and choose the
correct option :
Statement A !
The nature of Social Science iz evidence-based,
empirical and verifiable.

Statement B :

Its studvy often leads to
interpretations of a single event.
(1) Ais true, but B is false.

(2) Both A and B are false.

(3) Aisfalse, but B is true.

(1) Both A and B are true.

(2)
(3)

multiple

wea/g F ffed w5 2 | )
(A) 3T (R) 31 B & adn (R), (A) 1 HE

(1)
ATEAl 7 |
(2)  (A)TIET 2, T (R) HE R |
(3) (A 3 (R) 2 FA #, T (R), (A)

R S T@ R
(4) (A F R, T (R) T 2 |

35. / frafafaa == =1 gfer 3 @d@ oo =

g9 wHIfAU -

DdTA;
Ffa® I FEEE R )
FYTB :

SH] AT UH: Tshd
%1 IR A A @ |
(1) AHE 2, W~ B7eA 2 |
(2) A3 BZHE A # |
(3) AT B, T BUAI 2 |
(4) AJRBZA FAIR |

Q-3

e %GR SATEH

e | r Wﬁr,mnﬁmmqﬁ%mﬁmwtﬁr
sV ' - ' H s 5 3 - » : 3
Vv drew a picture of a woman as a nurs i & =9 1 fa3 39 | e e = S

and a man as an engineer. On asking the
reason behind it, she replied, ‘women make
better nurses because they are more patient
and gentle, whereas science requires a
technical mind and women are not capable of
dealing with technical things’,

What does Rosy's statement reflect ?
(1) Gender constancy

(2) Gender stereotype

(3) Gender typing

(4) Gender discrimination

qod T, 394 I T, ‘wieemd st 9| wrd
% wite a sifus 9ar o o= 2 2, F9f
fasm H arh foam 6 smavgEwa wd 2 3
TTEeTd qeATe] GEq3 1 T F4 B BEH TE
ATAl 7 |

T F1 H99 T4 WEtad Fa # 2
(1) T

(2) TS FIgagG 9ol

(3)  HEL IR FAI

(4) T HEHE



39,

40‘-

(29 )
dents  about  election
To fan in, which one of the following s

1d be the best pedagogical method ?

rl: A-.kmﬂ students to conduct survey in
their nﬂghlmurhund about election

Organizing an clection in the class for

(2)
rpr.ln:'nuntnlu r"s

clnss

(3) Sereening N
election

(4) Inviting an expert for a lecture

The best possible practice for sensitizing

ctudents towards the life of tribals and

nomadic pastoralists would be :

(1) gereening A movie or documentary on
Bakarwals.

(2) lecture and seminar,

(3) agroup discussion on tribes and nomadic
pastoralists.

(4) textbook reading.
While students are engaged in a group
discussion on uses of water, a teacher should
use the blackboard in which of the following

documentary on a local

manner ?

(1) Arranging responses
themes and issues.

(2) Noting responses of students who are
considered bright in the class,

to the students but not necessary

around concepts,

(3) Listen
to record.

(4) Recording every word said in the
discussion.

A teacher takes students of upper primary
classes to the District Court, after finishing
the Jesson on ‘Criminal Justice System’. Which
of the following objectives is/are most

appropriate for the visit ?
A. To provide experience of the functioning

of courts and interact with lawyers,
judges and stafl on the roles they play.
B. To show the challenges of seeking justice
and create awe of the system.
C. To scare students by showing difliculties
faced by those implicated in various cases
and encourage law keeping.
Choose the correct option :
(1) 0“1;.1-
(2) Only B
G}ABmmc

37/

PAVE
fﬁ'ﬁ]‘l’fd‘ﬂ! T‘I una #4 BCIE) ufem & =i #®
gufifaa w3 % feau, Fofafea 8 8 =m0
frare=ha fafu 2 wph 2
(1) faenfdn o 393 9w 8 gma Had w4
G ?-E fau wen

(2) wen ¥ wen wiafbueg w fEe gaE w
HETAA FA B

(3) T gaE w gataa e

) ff faoas & =wam & fon st

ERC|

k_/anﬁ’qum i aeran GeEE (S H

sﬁmmnﬁﬁﬁMﬂm?wﬁamqm

T4 3 AT |
(1) ammqgﬁﬂﬁaawqﬂ&mfaamt

(2) Eﬂﬂ?iﬂﬂaﬁfﬂl?nt

‘L/ﬁﬂﬁmgmaaﬁgﬁtrmm_mquai:w
Awy AR W TAWEE Hl ST

ﬁnﬁiﬁaﬂnqﬁmwmmﬁvl

(1) TEeaa, fammamst i gE & s
muﬁWaﬂmm‘qﬁﬁfM|

2) 3 faenefi 1 wen § EMEW WA WM R
31 ufafwn =1 fom @ |

(3) faenfedi 1 a@ S gAN @fda IR
sifiergs 3avES T8l A |

() T O wA MW W AW F AhEfEd

hTAT |

\/‘mﬂfﬁmmﬂ F1 UT8 el B 91, UH

o7 I WA HEsl & et & e
Wam%mﬁm‘mﬁnﬁfﬁaﬁﬂ

Haﬂq-mmmmmm 227

\{Fﬂﬂmwwml
B. =@ qn § 3w ae Ffa @
Sorf SHETd & AW § ¥4 421 FA

fifi Tal 3 SA 0Tl FEET

=@ fameq o1 949 S Au
(1) Fa4C

(2) Fa B

(3) A,B3MC

(4) Fad A

(¥ Scanned with OKEN Scanner



p.IVE
41.

43.

Wwhich of the following are the prevailing
misconceptions about Social Science ?
A Itisa non-utilitarian subject.

B. Natural Sciences are superior to the
Social Sciences,

C. It rewards memorisation of superfluous
‘facts’.

D. The only job option open to students
specialising in the Social Sciences is in
academics.,

Choose the correct option :

(1) A,BandC

(2) Band C

(3) A,B,CandD

(4 A,CandD

(30)

.=
-
Il "a

wra-vromd § o

A. AR U Noapmfy fama L
B. K fasm, spnfaes fame 8@ A m{
C. 4R e e g e w g e

e

D. i foar i fasen o
% % fawen wAd O
(Fenfarzi) i # # |

adl faen @ s ffao

(1) AB3licC

(2) B3mC

(3) A.B.C3D
(4) A, C 3T D

% L] - - - - F;-—'
Which of the following concepts (A to Dlliz/ 35“1 wfeaq i H?FF‘T-'IT ol E’qﬁq ;iF f?ll" 5,

should a child have prior knowledge about to
understand the concept of the Torrid Zone ?

A. Longitudes

B. Globe

C. Insolation

D. Latitudes
Choose the correct option :

(1) A, CandD
2) B,Cand D
(3) A,BandD
(4) A,BandC

Read the following statements and choose w

correct option :
Assertion (A) ;

The change in nomenclature, from Civics to
Political Science was to bring back the focus
towards issues of contemporary India.

Reason (R) :
'Civics’ appeared in the Indian school
curriculum during Colonial period against the

background of increasing disloyalty among
Indians towards the British Raj,

(1) (A)is true, but (R) is false,

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A),

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

forrehl Wty SR A AR, 2
A, U

B. @4

C. &y

D. &

gl faweg &1 w37 i

(1) A,C3MD

(2) B,C3MD

(3) A,B3MD

(4) A, B3 C

- frafefgs waEi ® ofee @ @@ fawes &

waﬁﬁm:

3FYA (A) :

A WRE ® USHiae fasiE AmEe ®

qfiad, TUheld YNd % Wl % ufd o

aqy @H & foqu a |

FFmF(RJ:

fafen w3 & ufq i § sed@ afre @

gy 1 sffafie Fe & ang yedn =9

qTeIEdl § QUi I Sy o |

(1) (A)HE 2, 94 (R)Ted 2 |

(2) (A) 3R (R) TH1 58 &, W= (R), (A) 7
HE AT TET R

(3) (A)TEd 2, T (R)HET R |

(4) (A) 3N (R) 2H1 |81 & a1 (R), (A) F1 T
AT R |

Sh




G (31) 4 P-1VE
ot which of the following

so, wieh of the fllowing actvities would help | a4, frefafn §i & @aah sfafafu(l) i g
t‘l*nlI‘!r."':l‘_._m.h.h. o 0 think about women's | i Houfeensil % owm A ST,
work :Lk‘in;: *m“hlmq | ure famfin e 0 oaa ?.f:ﬁﬁ [ [ _

& ;Iﬁhhnsi:inn th--hinll:::n wfl“p HI"H;I“'"? A faente “ﬁ"ﬁnu_ﬂ s T
between moen and wumm:““' of equality Hitrel !Il‘l?-lr_-t' ';':7_1 AL I L fr_‘vFEF{‘ ?h‘ fFTIl_ heAl |
B. ;\::*ki“ln! Fi'lldl‘l‘ltﬁ Lo observe how much 13 ff_-'lﬂlf'-'l’ﬂ ‘Irln?l i}lﬁ’:ﬁi =Hr-1=5 fm
leisure ‘lm‘w men  and, women have fir ufeensn =« T ‘W]_ap_:{_u
!"5.{:”“‘015 and to think about why that fra gimd w1 i fyada 2 s T
is S0. o e e - &
Showi a1 fa=m v fF oE e 2
~  Showing them data regarding » many b iy, e
" girl students get to attend chools and|  C. O A grnsil % e § st
asking them to talk about the impact that wadl 37wl F fZ"'ET:ﬂ T EFF-H '37-!"-'5
might have on their job opportunities. AR g & EHT T YA G 99El &
Choose the correct option : an 1 =94 14 & few FA
(1) Aand B adl ey @1 = fafau
(2) Only C (1) A3IMB
3) Band C (2) Had C
(4) Only A (3) BHWC
45. While taking a class on the topic of (@) wEAA .
‘Government’, which of the following questions | 45, H oeEedT & famg W Sel ©d HHg,
can you pose to students to encourage both faenfdali o grafsa STTEHAl ST ATATSATHS
fl{:cial;awareness and critical thinking skills in fram Fivrel 21 [aFaa w4 & fou fFefate
em ’ - . A
. . T4 <l L s LIS
(1) ‘List out three differences between a :-‘11;1 fq;gaa mqgm TR ‘3; i %
monarchy and a democratic government.’ 1 3w gEg £ifa |
(2) ‘What are the features of a democratic (2) ‘HATRAIS HI;ETI #1 7 fafr=and 74
government ? 59
3) ‘We saw how the pandemic had 3 Bm a fF5 M ® A =
dispmpnrtinnatel}'zl plt“ﬁ:d thi] b?:ll;{}l I:‘.té' e 1 AE FafEeER S AN
EE:'II:EE:WD; ’ }ruuuc tnl:.ink ﬁr:my protest =g a:-!ﬁ’-ﬁ q1 @ '3lfl E‘I‘H 21| _51@%;%
organized by them demanding better £l GITETEF f:ﬁ'ﬂlt_tl dadl Jd1 T4l
working conditions from the 1_.»3:*1'a.rn.z'rm'mrL_-nt]I %l Tl HIHI & THA ESEARMIEREAE]
is justified ? Support your answer with EIRE] 3,? Y4 I 1 THES w0 Hiwd
| reasons.’ N ‘ | T:ﬁlﬁf_l_'!,l . S -
(4) You have been noticing for quite some (4) HAHA TE@ =@l 3 Ad
time that the area near your house gets ff aiftor &t 8, U W FH HE-IR
flooded every time it rains during the FAE B AT R | 39 39 geiEE] L
monsoon ~ scason. ~ You and % e a1y faera @ T w1 gavE e
néighboura decide fast it Tove %1 SN FE & | WEHA, T A F 0
¢ done regarding this 1ssue. A 2
of government — Local, State or Central, H £ & Eﬁ:‘ HT SIE T 5 T AN
grievance 7' ‘ .. |46, /U foferant 319t 9@ HAT & fere SRk
46. A teacher writes expected lt{:*lﬂrnlﬂﬂ 'Tlhjlfm?l‘: sfirmn Se9g =M WeW feadl R o feend
for her lesson plan as : ‘Stu ents will be ab foa m' GEEL e HIcTH + =Y
to compare a weekl}* market wilh‘ a Bhnppll‘ls’:’ ML : ...@ - . __m f?l'({ Faﬂ'lﬁi'«‘-ﬁ HE‘I
complex’. This objective will require students [ | "am 7l | %‘:{ 3€__! [ ﬁnﬁ :
to demonstrate their : YA _ yafoia & i e
(1) Application (1)  39Em
(2) Understanding (2) ¥y (=)
(3) Analysis (3) Tageo
1‘1 ) Kllu“'l@dg‘." t"‘} m

(¥ Scanned with OKEN Scanner



P-1I'E
47.

48.

49.

50.

Which of the ﬁlllmrin}: ASsessment questions is
the most appropriate to test students'
understanding and appreciation of Indian
federahism 7

(1) Write a brief note on the three organs of
the state — the legislature, the executive
and the judiciary,

What are the three levels of the
government ? What are their functions ?
What do you think might happen if we
did not have any state and local
governments and all decisions were made
at the Centre ?

(4) Define federalism.

Consider the following assessment question
‘Why does a democratic country need a
constitution 7

Which of the following answers given by your
students indicate a lack of understanding of
the question ?

(1) Student C : A constitution ensures that a
dominant group does not use its power
against less powerful groups.

Student B : A constitution gives us a set
of rules on the basis of which a country is
to be governed.

Student D A constitution usually
contains rules that ensure that minorities
are not excluded from anything that is
routinely available to the majority.
Student A : A constitution lays down
rules that guard against the misuse of
authority by our political leaders.

Read the following statements and choose th&
correct option :

Assertion (A) :

A scrapbook is an effective way of making
students learn about the different types of
vegetation present in various regions of the

(2)

(3)

(2)

(3)

(4)

(32)

afa

aentda i g wwarg ) awg 2 w3TE

world through pictures.
Reason (R) -

A scrapbook must be assessed onl v by the cost
of different materials used in it.

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is
.. 1ot the correct explanation of (A).

(3) (Ais false, but (R) is true. L

(4)  Both (A) and (R) are true and (R) is the
correct explanation of (A).

What kinds of questions can students be asked
in order to test their factyal knowledge ?

(1) Knowledge of terminologies
(2) l\nnwleﬁgu of classifications and
categones

(3)  Strategic knowledge
(4)  Knowledge of subject-specific skills

.6
h‘l"-i
L T 4

Gﬁﬂr‘?ﬁ fau fafafaa 0 @ w=@-0 = g
gaifuw gy 2 9 _
tmw% da ami — fawfaa, FEwiE

(1)
3t =i g Afun fFao fafao |

(2) IR =raEen & dF @ FE-A A 7 39
FT TP Y _.

(3) 3 faaw o wn A afz gard T S
s orgren @l Al 3
Ml $5d =z 1 foo a2

(4) HIE1R W yingfug HifEo o

48. /VTha Havl fefafag yom w fa=m $ifau

;&mmﬁmémﬁ#ﬁuﬂﬁmwwm
9°
frofefen § @ @i sw zafm & fe fromd
< T7H &l aaE A ? :
(1) faendi ¢ : wfqum 7z ghfrag w2 f
FIE UG HHR S9E HEARI W3]
ITeh =1 WM F 51 | o
(2) faenefi B : wfaum w3 v Fremeeh 2an 2
e ST 97 U 29 o ST o) me # |
(3) faemedi p : w@fqum § 3 fam anfae 2 @
78 afda 3 @ W awgew ® e
JTTHE |

1 =R |
(1) (A)HA 2, W= (R)T&4 2 |

(2) (A) 3R (R) ZH1 54 &, 79 (R), (A) £
HE = g R |
(3) (A)TETd 2, 9 (R) HE 2 |

(4) tmaﬁuméﬁaﬁlﬁﬁm{m, (A) %1 T#I
T 2 |

o m

(¥ Scanned with OKEN Scanner
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( 43)

If Gn‘gﬂ“‘ifh Mendian 'I‘jn“, is 12 noon, then
what will be the time at 45¢ Fast lnnp:itmlu ?
(1) 9a.am.

(2) 3 p.m.

(3) 10 n.m.

(4) 2p.m. .
Sea caves are formed in coastal areas. Select
the suitable reason for formation of sea caves :
(1) Erosion and deposition by waves ~
(2) Wind erosion

(3) Man made activity

4) Falling of rocks

Natural vegetation varies from place to place.
Why do evergreen trees grow near {-quﬂlﬂﬁﬂl
region 4

Choose the appropriate reason [rom the

following :

(1) Moderate temperature and moderate
rainfall

(2) Heavy rainfall and high temperature
(3) Low rainfall and high temperature
(4) Moderate rainfall and low temperature

Consider the

following statements about |

P-1VE

51,/ f3 e ot s w3 12 49 R @

AR YA 2o wT s T T2

(1) 9@ yain

(2) A IR

(@) 1093 yaia

(4) 23 I

adr g 1§ Egd e 2
(1) @il gy wgiEA v e
(2)  9EA TG

3y wiAa fafida nfafaiv

(4) e @ T '
ro qfads A WrEiaH arfa | Ml gftad+
‘e 2| HEEER g4, YEEEd] T2A E

frfafiga 1 # 39gF F0 D
(1) e A 1 HeT @]
() wifi aui 3 I qHE
(3) = aaf 3N 3R q9HH
(4) e gl 3 R 9EE

i":ln_r_qjﬁvymzﬁin

ﬁ L
CAE R

5.

latitudes. Which of the following is correct ?

(1) Arctic Circle is at 23% north of the
equator.
(9) Tropic of Capricorn passes through

southern hemisphere.

o

(3)
equator.

(4)
hemisphere.

An imaginary line
it into two equa

drawn on a globe to divid

(1)
(2)
(3)
(4)

Equator

Tropic of Capricorn
Arctic Circle
Tropic of Cancer

from the following : ‘
A. Longitudes and latitudes are

the globe. |

It is tilting on its axis.

C. Itisa true model of the Earth.
D. Itisoval in shape.

Choose the correct option :

(1) B,CandD
(2) A BandD
3) A,CandD
(4) A,Band C

B.

Antarctic Circle is at 23-2- south of the

Tropic of Cancer passes through southern

| parts is known as the

Choose the correct statements about the ﬂl“b“L/

drawn on

weriaii % an H ffeiEd wYAl T fa=m
&m|ﬁq’lﬁﬁﬂﬂﬁia$‘hmqﬁ1%?n

) FLyEE A fagEa @ w 23% T i

fea 2 |

(2) mWaFmﬁﬁmrﬁﬂﬁmuﬁr{ﬂ%l
3y Zav.ydm ge fagaa @ F 23 AR
H frga 2 | -

o Y il Tiremd | e A @
¥ fom ofi=h e
A 2 |

b4.

(4)
55. ﬁmiﬁlé‘lmwﬁﬁaﬁq
Feais W@l Hl _ FA

(1) fagea T
(2) Wt Tl
(3) Ia-gar g
(4) Feh Tl

56. ﬁmﬁﬁﬂﬁﬁ@a%aﬁﬁaﬁﬁﬁmw
i]ﬁf(’.:

B, 7R AT #& 9 gH g A HE |
C. aaqga’rzmmfzﬁg?ﬁw?l

D. I8 SN 3EHAa A 8 |

(1) B,C3MD

(2) A B3 D

(3) A,C3MND

(4) A,B3NC

(3 scanned with OKEN Scanner
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P-11/E (34) o
67. Stratosphere has ideal conditions for flying 07, HHATINSH fﬁ yfifrufaal ra @& 3BH 5
acroplanes. Choosge the correct reason ; ferm el 7 B | HA w101 1 T9A #ifu .
(1) High air pressure (1) 39 9 7m
(2) Low air pressure (2) 3 ag o ‘
(3) Free from clouds and related weather (3) AT Ua q’l”?ﬂ ) mgﬁ a Hth Bl
phenomena

) 3 arh wffrafaai (9 e

(4) Windy conditions

58. /fetcafaa e o o fram dfw
58. Match the following pairs correctly : \/ HIcTH | Ficid 11
Column 1 Column 11 A, 3AE g < . amHeEd
A. Ozone layer L. Troposphere B. ifzat iy 1. afadza
B. Radio transmission |1, Exosphere C. THEyg Haf Breind III.' Ui ed
C. Weather phenomenon []]. Stratosphere D. 9 an | V. 418l Ei'l'ﬂ'lilgﬁ
D. Thin air IV, Thermosphere | ¥ ey w1 T i -
Choose the correct option : {1; A-II, B-TIL C-IV D'.I.
(1) A-IL, BAII, C-IV, D] “® A, B-IL C-II, D.IV
(2) A-I, B-IT, C-I11, D-IV

“(3) A-IV, B-I, C-I1. D-III

(3) ATV, B-I, C-II, D-II (4)  A-llI, B-IV, C-I, D-TI s
(4) AL B-IV, C-1, DI Eg/m MW, ™ mEErHE SEun 2 w9iE 3
59. |

Gulf Stream is a warm ocean current because

it | (D) ¥E B ymegeE Fi sin g d 2

‘1) moves from poles to equator @) it (v & Fr=) & m e

(2) gets heated from underground (3) T grf zﬁgn:n (|ra1) gr T Bt 2

(3) gets heated by hot springs (4)  YermE % e 399 7 2

(4) originates near the equator Frefafas . o EF '

60. Match the following pairs j}'/ AT %H o Nt X

Types of Farming Areas/Regions A rorr E HZ/ X adt

A. Shifting I.  Semi-arid and ' Ol U AN Tk
cultivation arid regions AT

B. Commercial II. Thickly populated B. arfnfres /\71 B SHEE 9T A4
grain farming areas 3HTH q;ﬁ

C. Intensive ITII. Thickly foreste Erat .
Hub;il:tl:':me ar;:ts e C. e th HL #9337 aret &
agriculture D. IefarHl gyEmm V. | g 3 G

D. Nomadic IV, Temperate THl fawey = ERE 'qE!ﬁTU :

Choo s oing Grasslands (1) A-I, B-IL, C-1V, D-TII
oose the correct option : , e

(1) AL, B-IL, C-IV, D-I11 =) AL BV, C-IL D1

(2) A-II1, B-1V, C-I1, D1 | (3) AL, B-I1, C-I, D-IV

(3) AT, B-I11, C-1. D-1V (4) A1V, B, C-111, D-11

() A-IV, B-1, C-111, D-I1

61. Choose the false statement from the following |61. / F=feafas FEA ﬁ A er,_’.afnum’_m Herd

statements on ‘Energy Resources’ | d- & IIJ9 ?Erfaq |

(1) Biogas causes greenhouse effect. (1) =mEms, THETIH U9 & FT B 2
(2)  Solar energy is renewable energy. (2) HR FHA FdiEly FAR |
(3) Tidal energy is exhaustihle. (3) SO FA guTg AT 2|
(4)  Wind energy is non-polluting. (4) 999 S REARIB G G| 2

(3: scanned with OKEN Scanner



5 ghich of the followy,
st for carpy; Mg,
#. d:ef Jong dlStIlnm_.H ?L' Ill!:ur}. f trntlﬂpﬂrt IH\ﬂ/

H:“] | . ‘
?jl Waterways wlky goods

(2 Railways
(3) Airways
@) Roadways

suggest the type of re,

L] {l .
mm-e, mn order to save Uree

Our 0
(1 Non-renewable py

‘H']urﬂ'ug
(2) Renewable resoyren,.
(3) Human made FeSOurees
(4) Abiotic resources

puring @ class activigy
students to select dolls '-:fhi:]w teacher asked

with Adivasis. Most of t}
dolls wearing colourful ¢]ot

in dancing postures. What
demonstrate ?

(1) Discrimination
(2) Stereotype

(3) Progressiveness
(4) Prejudice I

Students picked up
hes, head gear and
does this hehaviour

Being prejudiced towards someone implies :
A. Tojudge them negatively.

B. To consider them superior.

C. To disrespect those who are different.
D. To discriminate against members of a

group.

Choose the correct option : ,

() A,Cand D
2) B,Cand D

3 A,B,Cand D 1'

4) A,Band C

Read the following statements and choose the
correct option :

Assertion (A) :

Federal system fulfils the ncecs
of the cultural diversities in India.
Reason (R) :

It establishes multiple lev
the country.

(1) (A)is true, but (R) is false. _—
'2) Both (A) and (R) are true, but )

not the correct expl
B) (A)is false, but (R) is trué:

1eeds and demands

els of governance 1n

anation of (A).

(3H)

> We should use | gg,

h identified closely | 64

65.

nd (R) I8 thel

4) Both (A) and (R) are true &
correct explanation of (A).

S D

o/ frafafiaa § A wamm @ HEH HUAR sies

?;f_iiimﬂﬂ;iaﬁ;wmﬁnmﬁiahéh%;
fern aram w5 R 7

(1) SHewm
(2) tEAdm
4) HEEAT
YA qATET
qEnvEl w1 w3

|

(2) TR HAEA
(3) mﬁﬁﬁ-‘maﬂmm

a?lwqa?ﬁ-l“ﬁﬂwm

(1) ¥g¥E

(2) Efeamn

(3) Sfagiretan

(4) AR ’
frdt % wfa gaiud g9 &1 31d 2

FE 2 |

(1) (A)FA 2, 9 (R) T 2 |

(2) (A) 3 (R) ZH1 He 2, 94 (R),
TE =are @ e |

(3)  (A)TEE B, T (R) T 2 |

(4)  (A) 3T (R) 1 Fal & 99 (R), (A)

=T 2 |

(A) 1

1 HFl



R

(36 ) /

<7/ faafafma 1 7 & g1 h TREE mgqﬂf;n

" ufa st sl FEeia (MFEE;:‘T ﬂ‘;ﬁ} 1)
sifufam, 1089 & Jeead & F¥4H )

P-1/E

67. Which of the following incidents are identalied
as violative of “The Scheduled Castes and the

Scheduled Tribes (Prevention of Atrocities) A S wfd’ & @i A ﬂ‘m R

Act, 19897 . o 3 fowe ot |
A. Violence by ‘upper caste' people against X

w HaA H
Scheduled Caste people. ‘ B. mﬁ‘:i{ﬁ mﬁa G{E-F;rm 107 AT |
B. Forcing a member of a Scheduled Caste 31[1'-‘[ I% 920 mf{ﬁ:‘i gt
community to eat ohnoxious substance. C. "'.H-o{lff:i}ﬂﬂ ;ﬁ@ 2l |
C. Allowing ;1011-trilunl timber merchants 10 LKA ED ﬂqﬁ‘{ 2l = e
exploit tribal land. ‘ . p. ayfaa wfa wHIHE F dAa F
D. Marrying a member of Scheduled Caste F |
community. aidt fawme =1 939 #1f=u .

Choose the correct option :

(1) A,Band D
(2) A, CandD
(3) A,B.CandD
(4) A.BandC

(1 ADB 3ﬁ’ B
(2) A, C3D
3 A.B.C3UED

68. “The Mid-day meal scheme has helped reduce
caste prejudices among students and promoted®

/m A, B#ETC )
| co/ “qoma sirsm draen 3 fenfe # snfama qamE
9 .ﬁmmﬁmzﬁ%mmﬁw =114

69,

social justice.” Explain the statement by
choosing the correct option,
A. Children of all castes eat together. |

B. In many places, Dalit
employed to cook meals,

women  are

C. Enrolment of poor children-in schools has
increased many times.

D. Reduced the dropout rates in schools,
Options |
(1) A,Band D
(2) A,CandD
3y A,B,CandD

F1 g frm 2\ wd faswed & =FE G A

T HHAT, | L

A, i Wil G EE HE-AE E@E R L

B. s T4l H, afeia uigenan & Wil 9hH
& T @ R o

C. THel H Ti@m w=l W TaW o e T

TG T |
D. THa o184 6l 20§ FH AR R |
fawey .
(1) A,B3WD

(2) A, C3nD
(3) A.B,C3WD

o a B (4) A,B3RC
f“r]- g and . _ LEEV |E|Qi‘é:lﬁ§“ 11 H H-TH-‘EI MEDIE \Ill\a'lq Fﬂﬁﬁ
nuch among the following provisions ensures AT 1 = Taa T .
independence of Indian Judicial system ? o b Eﬁ ‘ ‘ % ? .
A, The legislature is not involved in the \/&f W‘Eﬁmjﬁ[ ﬁrﬁﬁ:’ &l gﬁﬁm 1 fauif
process of appointment of Judges ﬁ'ﬂﬁ]ﬁ gl 31—'?] 3
B.  Fixed tenure of judges B. =i =+ ffeaq FEFA
C. jl::l::::u‘muut cannot discuss the conduct of C. WI‘fI‘Jﬂ G HTE0T 6 H’qa 9 '-ﬁ-ﬂ B
D. ‘

The President administers the oath to the
Chief Justice of Supreme Court

Choose the correct option :

(1) A,Band D

(2) A, Cand D

(3 A, B,Cand D
(4 A BandC

D.  Ha= =R F e g—
T R E i

(1) A‘BWD

(2) A.Cﬁ'{'{]_)

(3) A-B.C:ﬂ‘nn

4) A B3R C

(¥ Scanned with OKEN Scanner
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71

72.

73.

( 37)

The work performed by g homemaker poes
unnoticed and unpaid ag compared to the
official work performed by an office proing Indy
who gets salary and respect. Examine the
P.ﬂgsible reason behind thig -

(1) Overvaluation of oficial work

(2) Less time taken for houschold work

(3) Patriarchal set-up of Indian society

(4) Devaluation of household work

The Supreme Court has interpreted Right to
food, Right to privacy and Right to
pollul.inn-frt:u waterand air under the ambit
of which Fundamental Right granted to

Indian citizens ?
(1) Article 19
(2) Article 21
(3) Article 14

(4) Article 20
“Indian secularism different ~ from
secularism practised in the USA." Identify the
correct options from below which identify the
differences between the two.

\

L]
15

A. In USA, neither the state nor religion can
interfere in each other's matters.

B. In the Indian Constitution, there is a
provision for Protection of Minority
Rights.

C. Both USA and India maintain strict
separation between state affairs and
religious affairs.

D. In USA. state can allow religious reforms,

unlike India.
Choose the correct option :

(1) BandC
(2) AandC
(3) Cand D
(4) Aand B

The term “All persons are equal before thed

law”™ means : |
that all the citizens regardless of their

* i ' bev the
socio-economic status have to obey lhe
same law. - N

B. no person can be discriminated against,
in the eyes of the law, on the grounds of
race/colour, religion, caste or gender.

C. inequalities cease to exist. 1 o life of

D. it ensures fair opportunities anc a ife

dignity for all the citizens.
Choose the correct option:

(1) A, BandD
(2) B,CandD
(3) A,B,CandD
(4) A,Band C

0. 3w 5 arefl ufeen fai Ga3 v mons

/

PV
treren 2 g [Fuafaa siifes w6 aee
n oare uigen 2m fonfa sm sEmEn 3
s SR | 3 O O 3uEg wem R =i
o . |
(1)  TwrarerR & a sfageE

(2) W HW F few g waa e
(3)  wWrdE 'R A fnges s
(4) HiE] /1A bl I

71. , e qmbER F sz s b afusn

\/

gfifa % afm =mE= =wEm 3 AeE w
wfumrr, e % s a9 TgmaE 99 v
ar] @ JfaERn = H R 7

(1) 3= 19
(2) 3=22 21
(3) =02 14
' (4) TR 20

2 1" 2Fl & 9 F W2l R e w6 I HE
ﬁmﬁﬁmﬁfﬁaﬂnn‘mﬁf@m‘

A, IR H, T 3 ud HOH R
Ueh-ZHL o HIHET H #eA4id 7e| 1 Hehdl @ |

B. Wndr ®faum # seqdeal & fusn
e a8 T 2 | o

C. a3 3 ¥rd 2F 8 T & HHA

m%ﬁmwnmmm
@d 2 |
D. ifem H, wrd & fauf|, 79 wiii®

(1) B3R C
(2) AJFRC
(3) C3WD
(4) AHB
. “H}ﬁhaa%wﬁqﬁnmﬁ”amm
5 R
& U4 HOF HHA F1 9EH FEA E
B. Wﬁﬁq.m&im&ﬁa&m

(1) A, B3HD
(2) B,CHRED
(3) A,B,C3D
(4) A,B3NC

=

(3 scanned with OKEN Scanner
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P-1l/E
74. Which of the following pairs are correctly

matched ?
/ 11
Work Forms of Employment
A. Mason — Daily wage labourers

B. Domestic worker — Casual workers

C. Vegetable vendor - Self-employed

D. Supervisor in — Businesspersons
a shop

Choose the correct option :
(1) A,BandD
(2) A,BandC
(3) A,Cand D
(4) Aand B

75. The cities have witnessed increasing

rural-urban migration which has resulted in
growth of slum areas near the industrial sites.
The reasons for this type of migration are :

A. Deterioration in living standards in

urban areas
B. Disruption of rural labour market
C. Decreased agricultural productivity
D. Increased skilled workforce in rural areas
Choose the correct option :
(1) A,BandD
(2) A,CandD
(3) A,B,Cand D
(4) BandC

76. Which among the following services can

included in the ‘Public Services’ ?
A. Police Services

B. Judicial Services

C. Educational Services

D. Construction Services
Choose the correct option :

(1) A,BandD
(2) B,CandD
A B.CandD

A. B and C

(3)

75.

o
i 4

.Wﬁﬁﬁﬁ-ﬁmqﬁgﬁﬁaﬁ?
I 1

il TATR & FI
A. mﬁmﬂ —— ford
D. gFA A =TT
Hﬁﬁmmmzﬁrﬁn
(1) A,B3mD
(2) A, B3NmC
3) A,C3hD
(4) A 3B
Wﬂ mnaﬂmﬁmwm F.m.;:
Wﬁmﬂqﬁmﬁwélwmmm
¥ o B
A,  YRO &1 9 Fag & = 0 sdmia
B. O SR A H fawe
C. W2 % HY IeqEaal
D. UM & H 99 7 FUE FrEd f
&
Tl faweg #1937 ifav
(1) A,B3MD
(2) A,C3RD
(3) A,B,C3RD
4) B3MC

he\yﬁq%ﬁmamwmmmﬁzw

Ao frm nasm 2 ?

A. gferg Ham

B. =ifas Tam

C. Wi Hamd

p. fagio Ham

T8 fameq &1 997 F9C
(1) A B3WD

(2) B.C 3D

(3) A B, C3HID

4) A.B3IHEC

(3: scanned with OKEN Scanner



f The Ibert Bill was 0
A

78.

79,

‘din 1883 beeause

he Biny as it gave a fre

q
h ROvernment to have

ithout ov
ide
B. Bﬂllﬂhl‘l’b Opposed the e

could take up trig of Bri
people.
c. the Bill sought ¢

Indians oppose ¢
hand to the Brj
trials of Indiang y,

Bill as Indians
tish or European

ualitv he : |
and Il'ldld“]u:]l_.l.q Ity between British

p. the Bill was racist towards Indian people.
Choose the correct option -

(1) Only C

(2) Band C

(3) OnlyD

(4) Aand D

Consider the following statements
reference to post-independence India

Assertion (A) :

with

Despite constitutional recognition of equalit:

before law, some Indians are more equal than
others.

Reason (R) :

The 1deals set out in the Indian Constitution
have not vet been fulfilled.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the
correct reason for (A),

(A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not
the correct reason for (A).

(A)is true, but (R) is false.

(2)
(3)

(4)

Below are two statements A and B in lhe
context of Khilafat Movement.

A. In 1920, the British impusm} a‘hnrsh
treaty on the Turkish Sultan (Khalifa).

Indian Muslims were keen that the
Khalifa was not allowed to retain control
over Muslim sacred places in the
erstwhile Ottoman empire.

Choose the correct option :

(1) Alis true, but B is false.

'2) Both A and B are false.

3) Ais false, but B is true.

‘4) Both A and B are true.

B.

(39)

P-11/E

{Mﬂﬁzﬁammmﬁmhnuam

TafE |

A yudE 3 s fany ﬁmmmm

| 3 fufew awam @1 fam wega & @l @
e 9 H e ¢ a1 o |~

B. mqmﬁamﬁnufmmm
yrdm ot fafem w godm afE W

77.

D.
g i |
ad faweq &1 93 Ay
. (1) @dd C
(2) B3MC
| (3) #Had D
(4) A 3D ) )
8. /a3 uTa & gay 1 fr=fafaa e o faun
AL
FoT (A) :

mmwﬁwnmwm
2. afier s fagrfl ¥ Fo wwdm s &

gma.ﬂrmw% I
NI (R) :

wRdg sfaum 3 7 feu o smes = 'e sl
7% HIHT T8 619U 8 |

| wel fameq &1 39q s .
(1) (A) 310 (R) 2HT ®B1 & 31 (R), (A) FI Hal
FUR |
(2) (A)TETA ®, 9% (R) HAl 2 |
(3) (A) 3N (R) 2H1 H&l &, 994 (R), (A) T

HE FT TZT R |
(4) (A)HA B, T (R) T4 2 |
fﬁ"%?ﬂw;\amﬂ faemsd ZE & "@ey
q8|
A. 1920 T, 370F 4 961 % Gear (FeATw)
T AEG W= HiY 99 d 4@
awr 4 frag ofen gfiem wam @
GHTH F1 5790 T8 21 =fEe a1 |
a7 fawen =1 =37 Fifsm

B.

(1) ATA 2, mﬁﬂwal
@) A3 B A T R |
(3) ATEA 2, WBW?I
(4) A3 BIE FAIA |

(3 scanned with OKEN Scanner
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p-IVE 80.

80. Read the fol
correct option !

Assertion (A ] . 3
% WL
As the indigo trade grow, commercial agen

and officials of the Company began investing
in indigo production.

Reason (R) :

Attracted by the prospect of high profits,
numerous Scotsmen and Englishmen came to
India and became planters.
(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) s
not the correct explanation of (A).
(A) is false, but (R) is true.
Both (A) and (R) are true and (R) is the
correct explanation of (A).

+ the
lowing statements and choose th

(3)
(4)

\Vg
81. Which of the following statements are true
about Buddha's teachings ?

A. Our sulferings and unhappiness are a
result of our past births.

B. Our sufferings and unhappiness are a
result of our cravings and desires.
C. All believers had to accept and follow the |

teachings of Buddha for a happy life.

Choose the correct option :
(1) BandC |

(2) Aand C
(3) A,BandC
(4) Aand B

82. The increased demand for Indian textiles in
European markets in the sixteenth and
seventeenth centuries led to the following

changes for Indian weavers :

A.  Expanding crafts of spinning, bleaching
and dyeing

B. Increased independence in working of
crafltspersons

C. Vﬂl‘i{:l}: in  designs and increased
creativity of craftspersons

D.

Working on a new system of adv
payments from agents

Choose the correct option :
(1) Aand D

(2) BandC

(3) Cand D

(4) Aand B

ance

FI (R) : )
o B g s o 3
# @M ERigdz 3 S
arA-aifes ==

A WEa 30 s

(1 (A)VEA R, w (R)7EA 2 -
@) (A) 3 (R) ZE1 T 2, TG (R, (A)

el SE TR |
3)  (A)TEE B, T (R) HE 2 |
4y (A) 30T (R) 21 T8 & 991 (R), (A) 1 HEl
2t L
fafafEa 4 4 &8 $99 9¢ & J99 %
gay o HEl 8 ? ‘ o
A, ®AR w2 n gE wEn fuee S
gftom 2 | o
B. PR Fw IR Z@ AT SIS SN
Ol Fl TR H @
UF QIR Wad & U g3 @ A\l
qTe 1 TGS 41 |
Hﬁﬁﬁqﬁﬂmiﬁrﬁq

C.

(1) B3R C
(2) A3 C
(3) A,B3nC

4) A 3R

82, mﬁiaﬁtaaga’im&m it H i A

W FE A owin § e oam R w3

B. W%wmﬁmmﬁaémﬁ

C T & wwem v foeqmrd 6
FATHHA H FZTd

D. T H YEe

(1) A3mD |
(2) B3 C
(3) C3mD
(4) A 3N B

(3 scanned with OKEN Scanner
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83.

B85.

Jyotirao Phule’s

(1) Nationalists of anti-colonial movement of
India.

(2) Bhakti singers,

(3) Anti-slavery activists of American Civil
War.

(4) Brahmo Samaj reformers.

Consider the following stalements :

A.

century, people from within

non-Brahmin castes began organising
movements against caste di::criminutiunl
and demanded social equality and justice.
The Satnami Movement in Central Indin
was founded by Ghasidas who worked
among the leather workers and organised
a movement to improve their social

status.
Choose the correct option :
(1) A is true, but B is false.

(2) Both A and B are true, but B is nof an
example of A.

(3) Both A and B are false.

(4) Both A and B are true and B 1s an

example of A.

Who among the following reinterpreted verses
from Quran to argue for wo men's education ?

book of 1873 on the dismal
conditions of ‘lower’ castes was dedicated to

By the second half of the nineteenth

(41)
pmy‘i‘m wifaal 1 zéam w sfana w5 6 1872

\

the

P-1VE

(1) g & ufaaefandl sEem W
mgarfeat w1 |

) ufe maE

@) anifefl TR g 1 W ga & fana
a1 FwEEmas &l |

(4) HEll GurS HUTH ) |

a4, Frafafea wa=i w fa=m Hiww .

A A AQ F ZE S aF, MR

wifadi % Hiat | i @m s EeE

figens 3maTA I3 em i mWIES

&1 gHaE il |

qoy WRE H HAAHl e f Ima

aufterm 3 H1, 5FR =w2 &= Fm w0

fpm 3l 3wt feafa 8 qum &

feru sqierem T |

Hﬁﬁ*ﬂﬂﬂwm‘:

(1) AT R, WA BTEA R | |

(2) A 3 B M1 ®&l &, 9 B, A F IR
TET R |

3) A3 BIH T 8 |

(4) gﬁnﬂﬁfﬁﬂﬁl?ﬁnn,amm

|

a5, /ffafas § & feed @ H wEA H
Wmmmﬁﬂﬁﬂaﬁﬁ‘ﬁﬁmﬂ

am ﬁTﬁ:ﬁ ET%U 9
(1) Begum Anis Qidwai i v
(2) Mumtaz Ali {1? ™ lm“l o
(3) Hajara Beebi Ismail ti; mﬁ' i e
(4) Begum Rokeya Sakhawat Hossain ( &) I w1 gE@Ea 789
We lfnuw very less abnuf. tribal groups in the 86, ¥ i SR m F @ o BH 98d &
medieval period because : \_/ o E“'?'_g e
(1) they did not keep written records so there n A ffET Eﬁm. SR TR 794 4 AU ITH
is less information. { an 4 &4 FAFH 39T 2 |
(2) they were not living in areas where 2) 4 ;| 's,'-:"lm 1 T8 ®d 4 FEl USRI
medieval rulers ventured, TS U | . q_
(3) they came into limelight only after the (3) fafem o & Y FH % E1 #@ 4

British established their rule.
(4)

they were isolated and lived in seclusion. ‘

A AR A ATl
(4) 3 e @ 3 whh 3w 4

(3: scanned with OKEN Scanner
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(42)
P-1I/E | _ o o go
87. “In the register of God's creation, since her 57_/ “@Z{T iﬁlqﬁ-'ﬂ & @i ", IEFR Al .[E;F !
A account did not fall under the column of men, A1 HJ‘ 0 FE] 37T, mfﬁn ‘5?1‘-fl ITII:I'FITT -=r*n
how did she gain from all of In::r excellent a " - T BT 2" TR T
ualities?” For whom was l‘lus passage 3 by i”_I el | ) 1 7
E‘r‘ittﬂn in the thirteenth century ? mﬁﬂézﬁrﬁﬂ 1 feras ﬁ:ﬂ’ ferman
I
(1) Didda (1)
(2) Raziyya (2) o
" [
(3) Gautami (3 lilﬂdj
(4) wZwTEdl

(4) Rudramadevi

88. Which of the following statements is/are truuu;/# ﬁrl-'-Tﬁ-!ﬁﬂ'ﬂ i A A weA T %/g 9 ‘

about technology used in the twelfth century ? 2

- - E;I
A. Arches were constructed to transfer the A. ﬂ"r-’l'ﬁl <hl th A= & W1

weight of the superstructure. ryriafa w0 & fem faa S 41 |
B. The centre of the arch was called the base | B. HeUE &1 9% "I aryrfareT saardl 41 |
stone.

Choose the correct option : wel I_‘I“E If LERIELE
i o Fd AITAA B
(2) Neither A nor B {:: ) 5

chdcl
(3) Only B ‘ .

(4) AQY B g1
(4) Both A and B |
g9,/ frafafea & & #2-8 qoamam =0« 0 JA1-9041
89, In which of the fn_llnwing Palaeolithic sites, A a7 3w a9 2

were tools made of limestone found ? -
(1) Koldihwa (1) E‘“""gfa'
(2) Inamgaon (2) FATHIE
(3) Brahmagiri @) wEhR
(4) Hunsgi (4) &H

fFrefefaa @ 4 F99 veemve % fafim =9
A T S He H A Tg R

90. Which one of the following is not true for &%
Mahajanapadas regarding the collection of

regular taxes ? (1) os @ o 5 S A
AT ZH] HATEshl &l A /9T
(1)’ Hunters and gatherers also had to El'Fg'ﬁ' TS 1 1 21 off l

provide forest produce to the Raja.
(2) SR ¥ G{E 9 9 TH 9rel s g
T TTHET F1ET1 97 |

(3) TR EEA TR IGA F L (3nu)

(2) There were taxes on goods that were
bought and sold, through trade.

(3) Usually tax on crops was fixed at . (half)

of what was produced. 2 femm fruffa 2rar a1 | °
(4) I_henivrs were expected to pay taxes in the (4) W-Eﬁ Hl ELEEUIR ) £ 3914 % FY 9§
form of animals and animal produce. H 2T 921 o1 |
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LANGUAGE 1

ENGLISH

. Answer the following questions by

Directions ' .
celecting the correct /most appropriate oplion.

A teacher showed a movie with llm‘ captions to
learners in Class VI. The movie is based on
one of the chapters in the textbook. The movie
with captions on will encourage :

(1) listening strategies, active viewing, and
motivating the students to use authentic
language material.

active viewing and listening.

the students to watch more such movies.
listening strategies by verbal clues and to
appreciate the actions of actors, and to

write a review.

91.

Read the following statements and choose the

correct option :

Assertion (A) :

A child in his early childhood stage uses more
verbs than nouns and ignores the grammar
rules.

Reason (R) :

They lack vocabulary range.

92.

(1) (A)is true, but (R) is false.
(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(3) (A)is false, but (R) is true.
(4) Both (A) and (R) are true and (R) is the
correct explanation ol (A).
93. A child shares her language classroom

experiences with her mother and says that
sometimes we cover our eyves and the teacher
asks us to pick an object out of a bag. Then we
have to try to describe it. It's a really good way
to learn.

This comment shows the child’s preference of
learning. Identify her preference.

(1) Iremember language well when I move.
(2) I remember language well when I hear it.
(3)  I'remember language well when I copy it.
(4) I remember language well when [ see it.

4.

97.

Read the example of what a learner does ang

choose the strategy that matches the example,
“1f 1 don’t know what something means, I look

it up.”

(1) Consulting reference materials
(9) - Using opportunities for practice
(3) Confused state of mind

(4) Focusing on collocations

A diagnostic test is used to assess :

learners’ ability to summarise the main

(1)
points in a text.

(2) learners’ ability to recognise their own
language mistakes.

(3) and rank learners in order of
achievement.

(4) learners’ strong and weak points 1n

language.

A proficiency test always assesses :

(1) the level of language that learners have
reached.

(2) the language that students have been
taught,

(3) the multisensory learning experiences.

(4) the language of daily conversation.

A teacher divided learners into groups, and
asked them to do a quiz about ‘elephants’
before reading a story about them. The
objective of the teacher is to -

(1) generate interest in a topic.
(2) give peer feedback.
(3)  write a text review.
(4)  test their memory.
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’ﬂ.

100.

101,

(4D )

diglurhinu’ the class l‘ L

]
EtUdEnL the “‘"Eh{_‘r q]lnlhln'"i]h
- e -

first talk to the ¢

student 18

this disruptive
(1)
(2)
(3)
(4)

Ilh—
‘l
N to offer remedies.

address the dil;
Bent gt
Students

depend on the
¢ Parents ¢, offer romedies
report the hehnviuur of 11 o
e

school authority student to the
When st.udents “brainstorm | |

draft, edit and revise th, ideas,
does this process reflect 2

Reading skill

' organise,
Ir work,” which skill
(1)
(2)

(3)

Speaking skill
Writing skill

(4) Listening skill

Read the following statements and choose the
correct option :

Assertion (A) :
Reading and writing skills help in critical
thinking at the primary level.
Reason (R) :
Critical thinking is a sub-skill of reading and
writing.
(1) Both (A) and (R) are trug, but (R) is
not the correct explanation of (A).

(R) is the

(9) Both (A) and (R) are true and

correct explanation of (A).

(3) (A)is false, but (R) is truc.

(4) (A)is true, but (R) is {alse.
Language skills are best learnt :

(1) of challenging
drills.

with the help and

mechanical languag®
gkill at a

102. To nssess whether

103. A teache

P-1V/k

underst nndd
a teacher

students have

how (o use the narrative alill.

should ask gtudents Lo

(1) share an incident  when they were
gurprised.

(92) circle the verbs and adjectives in the text.

() correct the mistakes in the use of
deseribing words.

(4) read a story and answer

::nrnpruhen:-:inn-hnﬂud questions.

¢ of Class VII 18 facilitating the
reading of books other than the prescribed
textbooks. She is promoting their :

(1) Intensive reading

(2) Shared reading

(3) Extensive reading

(4) Guided reading

104. The principal asked the language teacher to

cclect the textbooks and other resources for

the new session. While selecting them, which

one of the following is not relevant ?

(1) Adaptability of the books and resources

(2) Learning needs and languages known o
children

(3) Level of the students

(4) Conceptual complexity and density of

material

105. The teacher developed the criteria to monitor
the use of language materials by learners.
Which criteria are most important and helpful
in monitoring the use of material ?

(1) and practice the

Present, prepare
material

(9) Usability, repetition and production of

utterances

(3) Observation, foedback sessions and
written reports

(4) Checklist, assumptions and learning
outcomes

(2) if the teacher focuses on 0n¢
time.

(3) if they are dealt with in an imegr:tled
manner.

4) only through wntten tests  and
assignments.
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P-IV/E. (46) e poetic devices ;
: 110. identify the P e
Dircctions : Read the extract given below and Line 10.
answer the questions (Q, Nos, 106 to 111) that follow v anaphora, metaphor
by selecting the correct/most appropriate option. (1) fication, simile
(2) persontr L
1 Love came to Flora asking for a flower (3) nm%'tﬂph*"_r"f"":I 1o
That would of flowers be undisputed queen, (4) alliteration, simi
The lily and the rose, long, long had beén
Rivals for that high honor. Bards of power 1. Complete the word analogy :
5 Had sung their claims. ‘The rose can never AR « - inviting :: strife :?
tower deliciou: .
Like the pale lily with her Juno mien' - (1) conflict
‘But is the lilv lovelier 7' Thus between (2) melody
Flower-factions rang the strife in Psyche's (3) adventure
. bower. (4) discussion ‘
Give me a flower delicious as the rose Directions : Read the passage given below g
10" And stately as the lily in her pride’ - answer the questions (Q. Nos. 112 to 120) that foli,,
‘But of w ? _ ‘Rose-red’. Lov | ‘ : Sl
what colour ? Rose-red’, Lov chﬁrst by selecting t he correct/most appropriate optioy,
chose, _ _
Then prayed, ‘No, lily-white - or, both provide’ |1 A majority of people think that their dreg,
i::g F:I!::ra gave the lotus, ‘rose-red’ dyed, job is too hard to achieve, 00 competitive ap,
lily-white’, the queenliest ﬂ“w‘-';l that | pelieve that it is all a matter of luck. All this is try,
: owa. ' . Id that stop anyone
106. Which of the following attributes is not nct-unlI}. o “hy- g D A, .
associated with the lily ? trving to get the job they really want 7 A reall;
fil! '{’he colour red determined person will always succeed and, in man;
:g: '?'LT?IIM% - ways, will need other people to give up trying s
olour pale white
(4) Loveliness that he can succeed,
107. E'end the following statements and choose the ‘!] Many job seekers feel limited by the choices
A‘:srrﬁanrf :::’ﬂ.: ey mudF at college. They may think that because
Tiw poets didﬁ not declare the lil _th"}' Stzd"?d marketing, all they can ever do is worl
- re r ¥ ity .
7y e lily as the queen ;n n;nr eting. All the evidence shows that, in fact
Reason (R) - Iﬂ:"ll' oyers afr:: less interested in acquired knowledge
The lily was pale coloured. = ;_" t]hE ability to think and learn. It 18 also very
i . ifficult ' : '
(1) :_;‘t: ilth true, but (R) is not the only reason if :{r:' Pr;dlt't the needs of society. For example,
'Tson chose to study denti W—
(2) (A)is not true, (R) is partially true. was a lack of dentists Whye h IEtl‘-}’thL{-lu:!,E there
(3)  Both (A) and (R) are true. that may not be th ) 0 he was in high school.
108 (4) Both (A) and (R) are not true. needs ni’ employe ) E“‘:E ;‘:'h““ g o
- Psyche's garden echoed with yers and the eco :
: th orv quicklv nomy can change
dispute between the supporters ;ﬁ‘ :SDUHds of a very qllll:kl} » and often unexpected[}, ’ .
f;: L}T\T and bards of power. 3 Of course it it i .
(2) 1 ) se, is , -
) allet l;’-:l;ﬁ f?nd the rose. economically, it is hard (o lf dﬂ oy touph um
] 8 owers - rose, lotus and lily. after university e Ind employment straight
(4) the lily and the rose. . Sity, but it is by ng _ :
109. Identify the rhy . might take several month | means impossible. It
B oy Tymeschemeinlines1-4.  fgraduating, but there is wopy - " @ Job afte
: ‘or .
(2) aabb piece of advice is neyer t out there. A really ke
(3) abba rejection because there 9 Fet downhearted by
(4) abceb can do to achieva <. will Probably be a lot vou
L‘hlme your dl‘ﬂﬂ.m " h g
JOb, whatever it is. You

(3 scanned with OKEN Scanner



P

&
-

must never give up. Be prepared to work hard and

113.

for long hours without necessarily climbing up the
career ladder. There is a lot to be said for learning
your trade from the bottom up. At the start, there
will probably be little money, but it will be worth it
in the end. The best jobs are not supposed to be
easy — that is what makes them challenging. And if
vou like a challenge, just keep your head down and
go for it.

112. Read the following sentences :

A. Determined people succeed occasionally.

B. Few people believe that getting their
dream job is a matter of luck.

C. A majority of the people think that dream
jobs are highly competitive.

(1) B and C are incorrect, A is correct.

(2) A and B are incorrect, C is correct.

(3) A and B are correct, C is incorrect.

(4) A and C are incorrect, B is correctl.

Why is it not easy to predict the needs of

society ?

(1) Job seekers don't take appropnate career
decisions.

2)

( Employers only seck graduates who are

knowledgeable.

(3) The needs of the employers and economy
are changing at a fast pace.

(4) Because there is a lack of dentists in the
society.

114. A job secker who likes challenges should keep

115.

his head down. This means he should ,
(1)
(2)
(3)
(4)
What advice does
employment seekers in para 3 ?
(1) To be dejected by rejection
(2) To be prepared for long hours of work
(3) To never give up the search for a dream

job
(4) To be patient in the search for a job

walk away in anger

bow down his head

avoid troublesome situations
confront challenging situations

the writer not give

(47)

116.

117.

118,

119.

120.

P-1/E
Identify the underlined words (parts of specch)
in the following sentence .
A majority of people think that their dream
job is too hard to achieve.
(1)
(2)
(3)
(4)

noun, adjective
adjective, noun
adverb, noun
noun, adverb

Job seekers feel limited by the choices they

made at college.
The underlined phrase means :

(1) to feel dejected
(2) to feel constrained
(3) to feel limitless
(4) to feel confused

Read the following statements and choose the
correct option :

Assertion (A)

It is quite easy to get a job immediately after
graduating from a university.

Reason (R):

The economic scenario
generation is difficult.

(1) (A) does not justify (R).

(2) Both (A) and (R)are incorrect.
(3) (A)isincorrect, but (R) is correct.
(4) Both (A) and (R) are correct.

regarding  job

‘Learning the trade from the bottom up’
means :

(1) from the lowest to the in

hierarchy.

highest

(2)
(3)
(4)

trading places with others,
from your colleagues.
inter-departmental learning.

Complete the word analogy :
expectedly : unexpectedly :: rejection :?

(1) eviction
(2) probation
(3) dejection
(4) selection
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P-1VE PART V
LANGUAGE II
ENGLISH - ending
" : Answer the following ffut‘sﬂl'uns by [125. Wh-if'l: nlr the following supports a P
ﬁ;:;f;:"u:;: " ";'"'H ARASLERRERBIISIR RIEES. :I Ir t-'h:f:akiin[: learners to summarise the text
121. Which one of the following is not a classroom \{2/) Using a prediction task

resource for learners in teaching-learning of

language ?
(1) Classroom library

(2) Reading corner

(3) Classroom procedures
\F{ ) Word wall

122, Read the f'ullnwin_g statements and choose the
correct option :
Assertion (A) : |
A plan for individualised learning must be
created by a language teacher.
Reason (R) :
There is diversity in learners in the
of new languages.
(1) (A is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A),

(3) (A)is false, but (R) is true.

“4)" Both (A) and (R) are true and (R) is the
correct explanation of (A).

learning

123. In which method does the learners' first
language play a central role in teaching ?

1) Communicative language teaching
method

(2) Grammar-Translation method
(3) Task-based learning
(4)  Direct method

124. Chetan's first language was Bhojpuri. Since
arriving in Tamil Nadu, he no longer speaks
Bhojpuri and only speaks English with the
natives. When the new second language
replaces the native language, this is an
example of :

(1) Code-mixing

\_UN/ Subtractive bilingualism
(3)  Code-switchi ng
(4)  Bilingualism

|

(3) Teaching grammatical structures

(4) Using paraphrasing tasks

ing 3 edial
126. Which of the following is true about remedia

teaching ?

(1Y Providing support to improve
performance

(2) Showing sympathy to backward students

(3) Providing extra marks to improve

performance
(4) Giving extra attention to gifted children

127. Read the following statements and choose the

correct option :
Assertion (A) :

English is an associate official language in
India.

Reason (R) -

English is taught as g foreign language in
Indian schools.

(1) (A) is true, but (R) is false.
(2)
" not the correct explanation of (A).
(3) (A)is false, but (R) is true.

(4)7Both (A) and (R) are trye
torrect explanation of (A).

and (R) is the

128. Which one of the fn]lnwing
characteristic of a language 2

(1) Language is symbolic.
(2)  Language is static,

( -’li/ Language is social.

(4)  Language is systematic.

IS not a
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=5
129.

130.

131.

O

(

“Ments and choose the

Read the followiy,
correct option ;
Assertion (A) ;
Prompting Studenys
knowledge is impoyy an
Reason (R) ; '
Recalling  the _
students connect the km;“
new knowledge.
(1)
(2)

(M Hl;“

o

recall  previous

knowledge helps
'n knowledge to the

(<
(4)

(A) is false, but (R
Both (A) and (R)

correct explanation of (A),

A teacher of Class VIII asked her learners to
produce a leaflet aboyt saving energy at home

as an assignment. This task will cater to
which feature of language 2

¥ Question forms

(2) Positive imperatives
(3) Comparative

(4) The past tense

)18 true,

are true and (R) is the

While planning a lesson, one of the objectives
is to enable learners to produce typical
business communication with customers. This

objective matches with one of the types of text |

gepres listed below :

) Report

132,

133.

(2) Description
(3) Article
(4) Letter

A teacher asked students to look at the four
musical instruments in the picture, and
discuss why they are used in different musical
contexts. Choose the cognitive skill that
matches this activity :

W’ Analyzing

(2) Composing

(3) Reasoning

(4) Imagining

When monolingual speakers move from formal
to informal modes of speech within tht? same
spoken or gestured idea, they are engaging i .
(1) _Code-mixing

‘2’/ Code-switching

(3) Dialects

(4)  Sociolinguistics

H)

P-1VE
134. Children's informal interactions, friendships
and relationships  with  others  in  their

community are based on their use of which
form of language ?

\}1-"/ Accommodation
(2) Assimilation
(3) ‘Language socialization

(4) Enculturation

[135. In the case of vocabulary use, grammar

prnvidr}:/:-; a pathway for learners to :

l'y/'éf]mbinn lexical items into meaningful
and comimunicalive expressions.
(2) re-tell listening inputs into oral output.

(3) draft formal pieces of writing in higher

classes.

(4) speak in formal situations with greater

accuracy and confidence.

Directions : Read the passage given below and
answer the questions (Q. Nos. 136 to 142) that follow
by selecting the correct/most appropriate option.

“Let's go! We are going to be late!” shouted
Glen gleefully as he tightened his schoolbag on his
back. Three other faces broke into a smile upon

hearing his words. They could not wait to soak their

feet in the water and perhaps catch a small fish or
two, j““_____f.-!—{-i—g-kf‘- They were clearly nn}_lfilgi_inﬁ_
towards where they should be — school. The cold 3
imposing white bui_lcli’ng'_bocame “smaller and
smaller. Their little _hearts grew braver by the
mﬁn. They knew exactly where to go.

N

The canal was huge hut;_}h_ﬂ} morning, there
| was only a small lazy stream of dirty water in it.
With gr_l}at gusto, Glen, the leader of the pack,

hoisted himself over the railings and climbed down

the huge monsoon drain. In the process, he got

himself vnr}\'_c]irt;.-. but the excitement of truancy
be bothered by some loose buttons

and tears in his shirt.

was too great to

~ .
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[=] "k
o0 he sequence
PIUS ed 1 Arrange these sentences as per the 5BE
In a fraction of seconds, the other boys Jm'm' in 1\*l1i{:h_tlu-3tr occur ir! the passage .F omsoon
S screams and laughter’ of delight A’ Glen climbed down the hug
S l ? ain. -
verberated into the air but no one else could hear dra ‘e
rov

B. Soon, his friends joined Glen n‘l ‘thE‘E oy

C. Glen climbed over the railings Wi
excitement,

D. The boys caught fish in the

n a canal that was far from

for they had chose |
e tiny fish darting to and fro

anyone. Glen spied many

# - ] l 1

dirty waler.

and were practically worthless but nevertheless, the 1) CHA—B-D
thrill of catching them bare-handed was priceless. 2) D>CoBoA
Glen raced after an extra fat one. He plunged his 3) B»A->DoC
hands to grab it only to have it slip between the 4) A-C—->D-B

ks of his fingers. _
o U?{ Identify the underlined words (parts of speech)

\}}&/ How many boys had missed school to g0 in the sifnlem:r: mxr'{:n ln-l:n:'j : o and fro in
fishing to the canal that day ? Glen spied many tiny fish darting
| the murky water.
(1) Four (1) adverb, adjective
(2) Five ~ (2) verb, noun
(3) Three 4 verb, adjective
(4) Two (4) adverb, noun
/ y
Q : 2/ C lete the word ] -
137/ The word ‘lazy’ in the phrase ‘a small lazy [{32. Complete the word analogy :
stream of dirty water’ means : imposing : impressive :: truancy : 7
(1) tired (1) foolhardi .nESS
) slow (2) absenteeism
£ W (3) lying
(3) Inlhnrgu: (4) Plﬂ}'-ncting
(4) murky

J/ Directions : Read the passage given bel d
\1'38. Why did the boys’ : ' ' ' . it ille
W ,::, wl? ¢ boys hearts grow braver by the |, cv0r the questions (Q. Nos. 143 to 150) that follow

by selecting the correct/most appropri ;
(1) They were excited to have missed school. ppropriate option.

' . .
(2> They knew exactly where they were Aeach Out! 'S an orgamzation that runs

headed. | week-long summer camps, designed to give young
(3) They knew that their teachers coulda't people the skills to be the leaders f.f_ﬂl‘-‘ future. The
find them. camps help to create confident young people who

wish to improve not only themselves, but the world
around them, Varying in age from 12 to 17, young
people come to attend the camps in Canada and the

4 USA f :
139. AWhere should the boys have been at that time rom across the world. They spend their time

(4) They could no longer see the school
building.

of the day ? ::.arninp:; !E_ﬂfl__i‘ﬁhip skillf, considering and
{1} At hﬂmﬂ IEEUSS'Ing lmponﬂnt 1ssues Eu{:h as pﬂllutiun ﬂ.ﬂd

health, and helping in the

(2) At school local commuiiity, They

also meet many other l
. | _ \ people who have the
(3)  Playing with friends interests  and  beliefs and frequently :%nﬁif
¥ & ' E
(4) By the canal friendships that will last a lifetime. -
. . - P .
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"o I e )
- . P .
There 15 N0 average g, at ! 1 / \W/E
- . ik | LA I‘;l‘l]l‘ MR L I.‘lu. 'r{! Wwennre t lur‘-n -__'“I‘l-!,,ll r a e
thﬂng-pg. are l“ﬂdl:" to the lln“-..t"hh k,-‘; | | inel et warmed up for

' which is handed the busy day ahes -
o . SlLY ay tlay ahead, the voung people ;
st daily, to allow room fuy exciting | mng people

ome up- However, camp members g

nerally get up
o, 1-and, once theyv'va o, : N ast o' hamew braakifos
at hgﬂfﬂ.ﬂ ¥'ve eaten breakfast, start (2)  ent a heavy breakfast

: v with outdoor g; .
their da) e e Sames to et them w
ap for the DUS! av aneaaqa

?' L

tvVents ns W 7
i ‘Ih‘_\ ( I \ “p[ up = liurll_'{ nYs ¢ a.m.

armed (3)  partake in some outdoor games,
ere are workzhops 1n (4)

ere s an {our ior lunch ; . 467 1In the afternoon, which of the wii
lh["n lh _'"‘"'--11__.11__""“11‘ l- or one ll"ur 1-/ fﬂ”ﬂ-’ ing

in the afternoon, camp activities ean camp members not select 7

morning on skills such as attend workshops,
the e

members have  the

anOﬁunit}' to select from various activities that (1) Basketball and songwriting

. dancing, voga, basketball ated - . ;

1nrludt‘f - all and song writing. (2) Yoga and public speaking
\'ﬁuring the bme at camp, there is a day known (3) Dancing and yoga

. ' ay. ThiF 1S W y -
as Action Day when small groups go out (4) Basketball and dancing

with an adult group leader to work with |
organisations in the neighbourhood.... Reach Out!‘_l/‘A

This can involve organisations dealing with housing,
journalism, healthcare or the environment, to name
just a few. Evenings are spent watching

The camps are justifiably named ‘Reach Out”
because :

(1) members are encouraged to collaborate
with neighbourhood organizations,

(2) young people find it exciting to reach the

documentary films or listening to guest speakers. camping site.
The aim is to Eﬁcnurﬂgu the young people to go out (3) they are action packed throughout the
and make the world a better place. day.

(4) young people work under group leaders.

143, Read the following statements and choose the
correct option :

A Reach Out! camps are week-long summer
camps that are organized all across the
world.

B. Young people in the age group of
12 — 17 years attend these camps.

1487 All the seven days at the camp are

(1) planned in a way to collaborate with local
organizations.

(2) action days.
(3) tiring and average.
(4) not the same routine-wise.

c . ] - -l < ‘ "
These young peuple come 1o learn . ldentily the undurlmrd words (parts of iil]:M:"U:h
| leadershi skills in the sentence giﬂrn below :
]p b l "

Thev also meet many other people who have

(1) Band C are correct, A is incorrect. ho xame interests and beliefs.
(2) Aand C are incorrect, B is correct. (1) adverb, noun

(3) AandB are correct, Ci8 incorrect. (9) adverb, adjective

(4) A, Band C are all correct. ! (3) conjunction, verb

1d (4) prI:]msilinn, noun
or

144. Why do y y people from all over the W ,. |
cnm}l; to Ehﬂmun";apm;:q 9 wnm]ﬂutv the word analogy
confident : shy @ QVeTagL -

(1) For fun and friendships o 1 (). similer
1 - . celves and the WO !
(2) To lmdpr‘::w. themst ) below par
around them - ' -
9y extraordinar)
(3) To while away their im¢ l :i} understated
(4) To improve their leadership 8

kills only
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